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Number Systems, Polynomlals,
and Exponents |
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2 ol dglusd! slus Yl s® N Natural Numbers dsudall Muc¥l
5 A3

il | sluc Yl ot 09—SC5 7 Integers douall Sus¥) o
1 een 32 0 0 JLwl Jw Jo il ISy Ll sSany

. =3 =2
icgams o~ 0 Rational.Numbers (& pusdl) dumsdd 2lds¥l o

b a0l WS b0 Cu alb byguall b Ll Sy 31 slas Yl

T
sl Yl J—S s H Irrational Numbers humsdd] gl 3ds¥l o
o T e St L ol ] e ) Lo

s
b}

Z, 0, Slogazall J| oxy =5 3ul 111 ke
0 R Olesamall J) axy 15673 51l R

Example 1.1: The number -5 is a member of the
sets Z, @, R. The number 156.73 is a member of the
sets @, R. The number 57 is a member of the sets
H,R.

| ddall allad Gl

Axioms for the Real Number System
oolsdl lagd el WL.«S!\U_,M\ O pally @"LH oy
(> slasl sl g b, c) LWL
:Commutative Laws JI¥| ouilsd o
t«.’J\ idas & 0 b s @ Cu gt b=bta
u,a” Lloas jr.g.o o ;MJJ.J‘ Cw> ab=ba
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:Associative Laws g8l il (lgd o

.JJ_(;'.«.N@.?J\UJ’JS'};. }l@»,ﬂlé at+b)+te=a+(b+c)
ol B gn (-:M.Jb La(be) = (ab)c

:Distributive Laws a)gid] (plgd o

.Cu_J\ P &) 2 (a+b)c=ac+be Casl a(b+c)=ab+ac
:Zero Factor Laws §zall Jolall (ilgd »

a.0=008% s> dds |S

b=0 31 a=0 W ab=035 13]

‘Laws for Negatives wdlgud] Jilsd o

-(-a)=a

(—a)-b)=ab
—~ab=(-ab=a(-b)=-{-a)-b)=—(ab)

(-1)a=-a
'Laws for Quotients dasedd! gyiﬁ °
a_-a_a _ -a
b b -b b
g8
-b b
. . - . (l (:
cad=be V8 \J! Lo g 13} EZE
. L ., a ka
(SR S Al dAe k G k Y 5 b
Properties of Inequalities i gl >

15)s .U go b—a OLS 1) a<b xSy b s Jil @ sl 04K
a cslS ) Ll b>a Sy a o ST 065 b 06 a<h eils
ASTO6S5 b O ash <ol bly .a<h b b galus of o Jil
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(ol el oda e AL ol g3l g Ll oy
ate<btc Ol a<b csl§ 13 o

c>0 s\ 13 ac < be

Ol a<b S\ 13 o
<0 c3l§ |51 ac > bc

a<c QB b<c cil§ga<h cslS 13 o

Absolute Value ddllalf Aol
Ol s la] 59l 3 a > 33 dillial) dagid) S - Say

a2l 38 \31 a

a<0 cs§ 13 -a

= |d

Complex Numbers PRV {

€ LS W S Y L gasmad it s slas W1 IS ws Y

G atbibypal o Lol Say .)LL:—Y\JSULDLS‘,M
J.L:—J.Su\ Hlasl 5-Say Ol Gy =1 L l;\.u-\ ab

JJ_LJSQ\J_!JCM..AJHOJ OJMJ‘L’LFMLSU&QJ x| >
s 4851 alus Yl BT Ui . US o Iads Uiy uﬁa s>
Lo oluef Lol L olae] o

slas Y ds % %1:27:7;—5: SB+y-4=3+2islas Y1 112, JEe
(i) S

Example 1.2: 344 =3+2i, - 5i, 2mi, %+?i are examples of
complex (imaginary) numbers.
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Lyiiond | Sls Y1 e 8 jmall & ol el plasenad o Sas g
saall @lad jans =1 100 Slasd a 28 a1 shas Yl ey B
z=a-ib gaz=a+ib S W)l saadl 30 060 F a0z LSl

Order of Operations bt | i

Al Las o 8T g drg A Oldedd] § JUI i 1 gl
S 1) Yl Wl d91  1 dlod) Slbedll plas] o 1
Pl oy Sl gl Ldaall J 515 ugd o 8T s

RLCUIN) I ER R PR Pl [[RRge RO WPV

il Sldas plas] 45 Yl 1 0l paliall ol comy 22

U3 e J) Y olsl 13) Y deddly

=8 o) L] e dadlly 080l Olesy oLl Cey 3
S obedl o Lanl s OF Gy 19) kg pasdl lidas
U3 i JI Y olsl 13) ) (eed)

Example 1.3: Evaluate liad ol 113 JGe

7

(@)3-4[5-6(2-8)],(b)[3-8:5-(-1-2+:3)]+(32-52)

(a) 3-4[5-6(2-8)]=3-4[5-6(-6)]

=3-4[5+36)
=3-4[41]=3-164=-16]

(b) [3—8-5~(~1—2-3)]-(33-52)2:{3—8-5—(—|—6)]-(9—25)2
=[3-(8:5)=(-7)):(~16)’
=[3-40+7]-256
=-30.256 = -7.680
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Polynomials 3gund] Ol S
EJ}@”&;‘BM\OA&MJT Ay do B anlS Say pni o

R

°J"—‘S O ,aiy Ol piin x), Xy, Wil @ Co b R
WS .Monomial Jod! &3\>1 Gl sy 4> o0 0555 D) 3l

Binomial 'y dod) Ol o d> 0 0885 o1 3gdad 5,48 e
Trinomial 39453 &5 Ny 39do- &M 50 & oSl 9ol 6,587 awai's
G| 35 ol 5,220,136 -1559, S aytaw 1.4 e

Example 1.4: 5, -20, m, £, 3x%, —15x%?, % xy*zw are monomials.

N <l D9 ulﬁf &J}ga x+5, x2 —yz, ,'_’;)csy7 —ﬁx3z 15 J@l

Example 1.5: x + 5, x> — y2, 3x°y” —+[3x’z are binomials.

39do- Ol W8 O¢SS x4y +4z, 5x% = 3x+], 8xyz - 5x2y +20P3u - 1.6 J@'
9dsd) 45N

Example 1.6: x + y + 4z, 5x* = 3x+1, 8xyz - 5x%y + 203u are trinomials.

s A o ST 0 08w ) 39l 5,088 iy Lol Ll il
3935 8,580 3, sgdadl B ol y ) ST

S 12077 (B) 8 Lyl oy Dol 390 5,088 3 (0) 117 Jia
X+ 30 =250 (@) o g pd 7 (0) ntlsd) domy ) pp sl 390
a3 oy A) 0 Xy =305 (e) Ldal J) oyl e

Example 1.7: (a) 3x® has degree 8; (b) 12xy%z> has degree 5; (c) 7 has
degree 0; (d) x* + 3x2 - 250 has degree 4; (e) x*y? — 30x* has degree 5.

- 12 =



\_MJ- | LS 15) like terms O g4 \iicia f"*'t" ,Si _9? pded JG
P s ) i Ol pisall e i JSI O sl el
5 adadl o gl g ) oMalaedl B L Osilisey Sy
.unlike terms {gUize b Ll dgolied |
39—l ol S ol 9667 2Py 9 -16xy Sx 3 3x 118 Ju;l
dglazal e 3adsdl ol W0 dlial 2B 5 P8P 3x 53 Lol LigLisall

Example 1.8: 3x and 5x, —16x?y and 2x?y, 1w’ and 61w’ are examples of
like terms. 3 and 3x, a®b? and a®b> are examples of unlike terms.

agucall OIS £ ylag oz
Sums and Differences of Polynomials
39400} pary 9ol OIS a ST o1 il g gems sl | o Say
o3} Sad 3ol Ol e il o 6,8 Lol gLl
A—-B=A+(-B) 0k c AN i ad] alase,
Example 1.9: 1.9 Jéa
(y* =Sy+7)-(3y* =5y +12)=(y> = 5y+ 1) +(=3y* + 5y -12)
=y? -5y +7-3y" +5y-12
=-2y*~5

Products of Polynomials 3 gund| Gl{d’S o e

st ol sl 5l 2 0 ) ol o) (S
= e Jg W Ol

: . &
Example 1.10: 1,10 Jlie

‘ 2 3 ¥ w5 3 3
:{‘3(3)«'4 =3x"+Tx4+2)=x -3.1'4 X o Sx +xTx+x"02

&= 3):7 - SA‘S +7xt 4247

-13 -
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Example 1.11: Multiply (x+2y)(x* -3x%y+xy*)
(x+ Zy)(Jc3 - 3x2y + Ayz) = (% +2y)x3 —(x+ 2y).3x2y+(x+ 2_\J)xy2
=x*+ 2x3y—-3x3y —6);2);2 +x2y2 + 2xy3

=)c4—)c“”y—szyz+2xy3
Dbl oda oo b gl ol plaseal ey Lo Ul

X’ —3)c2y+,vcy2
x+2y

xt- 3x3y + )r"’_v2

Jxty - Evczy2 +2xy°

3 3
Xt -xly-5xtyt + 20y

Jool> sl ¥ (First Outer Inner Last) FOIL 4 b pluseil 53l (S 3

D9d 58 O
(a+b)(c+d)=ac+ad+bc+bd= (First) + (Outer) + (Inner) + (Last)

Special Product Forms wpall dal> e

(a+b)a-b)=a*-b* ‘e om A
(a+b): =a* +2ab+b* gyl e
(a-b)’ =a’-2ab+b* 13 pye

Factoring Juboed |
) 1553 Oldasd LSl el iy 33001 8 o
Prime &g 29> 5,48 i Lo oSy ¥ A1 g0l 5,87
S| o it Jole S0t 8 bl Jddond | Ll Jrasy

- 14 -



Jelol) 2ol ) guall Jany oSl FOIL Jolows ¢ ol 33
U PN WIS B (7

Example 1.12: A monomial factor:
3x° = 24x* +12x° =327 (x? - 8x +4)

wodl ool b o 1113 Jle

Example 1.13: A nonmonomial factor:

120 -1+ 1 +8x(x* = 1)’ Bx+ 1) =4(x* - 1)’ Bx + 1)’ [3(x? = 1)+ 2x(3x +1)]
=4(x* - 1’Bx+1)°9x* +2x-3)

(i $Y1) ol plisery P 2114 gide

Example 1.14: Factoring by grouping:

3x% +4xy—3xt — 4ty = (3x° +4xy)— (3x1 + 41y)
=x(3x+4y)-t(3x+4y)=3x+4y)(x—-1)

5330 gty Sl FOIL ol

x’ +(a+b)x+ab=(x+a)(x+b)

acx® +(bc+ad)xy + bdy2 = (ax+by)(cx +dy)

! Sl FOIL Julows 11,15 Jia
Example 1.15: Reverse FOIL factoring:
bl 045 50 r_eJ.U gekale ye Eoed x* - 155+ 50 Jdd (a)

- 15 -



10959 10 =5 cploladl doeid =15 Lagaas
X = 15x+50=(x - 10)(r - 5)
w0509 406=24 Ll 1o Coms dx’+ 1y + 6 Jdoud (B)
055993 8 fpelalall dowid 111 pgraxr

4x° +1 lx_y.-'—%-6y2 =4y +8ch+3xy+6y2
=4x(x+2y)+3y(x+2y)=(x+2y)(4x+3y)

General Factoring Strategy  Julxill dolal! dunudf fu¥!
3dod| o &S uiall Jalgad| S 35 i(1) 55kt

S b 1318 ¢ oYl 5ok day 3ol sus LD 1(2) 8 ghesell
v U’j‘ﬂ‘ 5 ghased] Ay 39l

OteSa o G o) s ol gt o G o L Ol (0)
=S FOIL Jolows' 5l JolS) )l 6 b (35 3 (8)
aamdly Jedodl Jglond ST o1 590 ) (0

Special Factoring Forms Julxdll dal> 4
@’ -b* =(a+b)a-b)  ‘oems om Sl
at+b* Yl Nt {'._j:n%w
a* +2ab+b* =(a+b)* g gamall g
a’ =2ab+b* =(a-b)* 1A e
Exponents | gL

0L Ll S Y o Y iy Sy
x”=xx...x(xu.é Ol edl e n)
Example 1.16: 5a°b + 3(2ab)’ = Saaab + 3(2ab)(2ab)(2ab)  :1.16 Jta

- 16 -



n@=0°0ih5.x6jm,&j,3>a.u‘_;=!x°=lQ“a,-i
1

sae ¥ X7 = sl reomall I Y1 G o Sy .y
X Ls‘)-‘.-qﬂ f:p
Example 1.17: 117 Jlia
3Byt 42030 ™7 =3'*1—y4 - .Lzz - 3y* + 27°
J x* (3x)° y5 2 (3x)4y5

s i (r 3 gl yldl) 1 S S5 3 oY1 OIS )
6l I e ST oo
Gy § g g 38 95 x% O s lads: 055 Ladis o
x e Jasin G Iy ady die
WOl L_f,-f-_gj \;J.r- n O 13] e
aby dis () Lo go Liis Iods 4S5 o O x>0 cslS 13 -
o a1 N

.x;=0 iy=_ blS b! i
1

lia...b- e cand x" <0 SIS 13) -

Cmd (€) (-16)"™ ((b)-16" =~(16)"* = =2 ((a) 16" =2 :1.18 JUis
() (-8)" =2 ¢Cii> lsus

Example 1.18: (a) 16'4=2; (b) - 16"4 == (16)"4=-2; (c) (- 16)'/*
is not a real number; (d) (- 8)!3=-2

-17 -




: .I'"‘I' s x”" . xn/n = (xl/n)m - (xm)lfn :u[e x"“f" Li,)’_', .S 8y

-m/n l
X :W
1 l 1 1
B -4/3 &

— (®) (-64)% ( (a) 8™ = P R TR 11,19 JGa
. NPPTIEE WD R W R Toeren
xar;lple 1l;19. (a) 877 = g7~ @y _2_4"%’( ) (- 64)*'¢ is not
a real numoer.

5le | Y x 4558 cdanns \:‘J&T baOsS bkis u.u...u"ﬂl el b
(el o D]y LI Sae N g1 ygdand| Comig) Al

u
xaxb - X(Hb (x),)u - xa.\!a (xa )h - xub (}_) — L

Ayl Dol ol

Rational and Radical Expressions

O3Ssy 9 S a6l o ] Jlai) GLS (Say
AL e Lo 0l yinedd Lyiiond) vl IS0 6,00 g 1)l
Sl Galay plied] Joos A1 il

dand)| U“"J‘g )
A= el sgam o J gl
.g—i=% JSi ;,bydjwﬁ ji
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590 Jaol Aol 1120 JUa
Example 1.20: Reducing to lowest terms:
=204y (=)' _x-y

=yt (x=))(x+y) x+y

Operations on Rational Expressions awwdd| il Qldealf

[E)_]_ﬁ ac_a  a_c_ 2_(5)"_
b a b d bd b d b \d

?_ atb a+c ad bc adtbc
¢

c b d bd bd bd

a
c

b 29—=S o Ggos p3lin s Complex Fractions 45 o)l ) gusd
AST y5aS I Wl Sagy gl 3 ol pliall i o1 Ll

Loty b (b db Ly
Example 1.21: 1121 JG
X a x(a-1)—-a(x-1)
x=1 a-1__(x-D@a=l) _xa-x-axta . _ .
x-a X—d (x=1)a-1)
a-x 1 -1

(x (a- 1) xX—a (x D(a—1)

4 ysall Jolall o r\.&db bl IS 0y o 1(2) idy Ll
s 1) e S er Sl

Example 1.22: ‘1.22 Jlil
gl BB
y x _y x X y X y xy xy(x=-y)x+y) _ xyx-y)
— 3 o 2
iz_*__)% _12_ lz )c‘j;z2 )chry3 (r+y)(x?‘—xy+y2) X —xy+yt
y x y x '

-19 -
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Example 1.23: Simplify xy® - 3x7%y5 ') 40 Ll d>9f 1123 JGa

ity JUal 1 o oSay

5
_ -3
WP ==L (24 y)
o D 0 B 0=y -3y
b) F-—F==-—T7= & 4
X X X X X X
Radical Expressions A ydend ! paldll

Say 68 g 35 ¥ 5 dorlgl o ST Gad Ios n 055 Lois
0 o x:x”” J LS“L'“\J‘ Lf.vy'” _)..\.>:j| ng U.U.J\ _).l)r.”&..é.a)w

x sowdy dndex JJUG n ews Radical Jadl v P s
.Radicand gl
bl B (o] ylind! A1 Jagend

Conversion of Radical Expression to Exponent Form

Lodiad x > 0 «(11 > 1) L 9 doeens a\.t.oin:mo.oJSQLf 13
OB &rgj n 0SS

m
xm!n = M :(%)
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Simplification of Radicals JYNCA ][~ Yomew

oSaadl e Gl I LI by, ) e bos IS i dale dina

(Sl ) s

sl o STl Il g i Jale o (g ppdomadl O B3] 1
RE] J-:.Ji‘ Sl

Al e d e Jale jdadl Loy jadawdl e IO 1) 2

.rL&Jlué,.l,_J\ d>g 13 .3

el Cou WS U9 13 4

Example 1.24: 1124 JGa
:Jg Y bl ( i )
Y6’y =38y 2)7 =3fary’ 32y? =2m32y*

B 7 o 29020 ()
:(ruu\ ) W b2l ()

sz \/zm \/3H W "B

x _ I3 5y _ 375x}_\/375)0 0 L |
\g |5 5y 5y gl el L3

2 a+ biygall o3 pasdl (63 OSall 38 ) Hluidd) Oy
Y U"S"“-" a->b JL.UA”
o S 00 6l e sl plia pa ol L'y o
.r\.ii.o.ll C,‘.é\fodérl.iidb L.
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o =S  Pad] 46 i gl Lo oo sdedl sy Blad g
il 3 plaally Ll

j‘;‘_iz il plis o ol Bl 1125 Jia

x—4
Example 1.25: Rationalize the denominator of 7-;’:‘5

x=4 _ x-4 x+2 (x-4)(x+2) =Jx+2

Ji-2 Jx-2 Jr+2 ¥t

A a4 by e el Gl 126 Y

X=-a
Example 1.26: Rationalize the numerator of Ji:f
i il i aa |

t-a  x-a yx+4a (z-aVr+vg) vr+ve
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syl S¥alats &

Equations oY alalf

oglaa o Mo Js Of gy juend o Dl
055 01 Lo} il e o g A1 Dalaally
P]E OV PR VERPINTER JOISS ) S
paall Lad o lla g ol el o] puicall o
e do-lg)) pizall OIS Dolaedl Jaz s
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slaal) Jodl is gaonas J g dodl S s gamo o llag @laall Jo
e DY W 3y skaall 8 g domas 0555 231 laall
o) s sasn i L 3lS 13) 2680 o Yslaad] 05y il

S U2l e IS OY @ilSan x+5=0 ar=-5 o¥ladl i21 Jle
(-5} &dl

Example 2.1: The equations x = -5 and x + 5 = 0 are equivalent. Each
has the solution set {—35}.

oI Dalaall OY slSae b =25 x=5 Oldslael]

A5,-5) Jod) ds gamma g W) dolaal) Lasy {5) ool o gacea
Example 2.2: The equations x? = 25 and x = 5 are not equivalent. The
first has the solution set {-3, 5}, while the second equation has the solu-
tion set {5]).

Ll Uslae ) Wby o Ol ghas 0 Dolan s Jo e 05

dslee J) ddslaadl o g OlJas Jiaxig .ca.b‘j Jr W0

oUdsladl 0SS Y Asladl gk J) sl s Bls) L1
w&‘.(...n atc=b+c a=b

Oslaadl 0S5 03 oy Aslaall b e sl i 2 b2
u.,...tsli.n a-c=b-c «a=b

0555 o oy sl b sl i § Dslaadl B b o L3
pitd (o (c#0 &) ac=bec wa=b :OWskaall

05 o5 o9 vl b 2l g e Dslaad) B b Gens 4
itd\Sao (0 o) %Z% a=b 1Okl

W

Aslaad) pp G b ol oliall Laps
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Linear Equations dubael| Y alalf
S g oSy sl art b=0 8ygal o ) oo ikl Dolnall
bl slaadl OL8 ¢ 2 0 clS 1319 .5y guall odg) d28\S00 dslas
W o Dslaadli g=0 <olS 13} Wl L Lndll usly > @ 05
iy Az D3baad) 0685 I sl Jeg h=0 a8 13) ¥ J>
Nonlinear sl ;& dslaally Lt cond 21 dslan]

o Ty oy e dides dolae 20+6=0 dolaad) (2.3 JGa
=3} Jodl s gazme 045 (3 (09 .3 g8 -l

Example 2.3: 2x + 6 = 0 is an example of a linear equation in one vari-
able. It has one solution, — 3. Therefore, the solution set is {— 3}.

Wy -y e 3 dbasd] 8 @alaal) Jlie 085 =16 2.4 Jlke
{4, -4} Jod! s gazen O4$ o 9 4 A O N>

Example 2.4: x* = 16 is an example of a nonlinear equation in one vari-
able. It has two solutions, 4 and — 4. The solution set is {4, — 4]).

Syb b adl Je NS e dbsd] O¥slaed] - 069
s Ly e S¥alas ) Boloall Jigs (Sass il
Skl o Ll sgdadl | S cdlg b b anedl sga- S
raall Jalas Jo OB BN oy o5 -
3x-8=Tx+9 Dolaadl Jo syl 125 Yo

Example 2.5: Solve the equation 3x - 8 = 7x + 9. |

x-8=Tx+9 G IS e Ty - ke
“x-8=9 Wl NS J) 8 Bls,
~4x=17 4 S bkl deny
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Quadratic Equations '3.“0'5'.1! PEZY ) KIFY"

(@ #0) G (@’ +bx+c=0) §y90all b LW dj ) Polan 045

Sslan Jod Gb gyl dr iy iygall s ] Ll oSy A o
Al d )

O Melas L ax’ + by + =0 39doedl 5,8 il 136 Judedd
90 (b delod day oSS Aol OB o] 6 4
OF Ao jais 31 6,0l Joldl ol s o3 Jal sl
B=0 ] A=0 0 13| Lid 4B =0

A =b5ygall 3 Uslaad) il S 5] L Al Hddl dual>
bl dduag A=—b A=vb 05 Jglodl OB ol b o
W EEN RS

Al Jles|

.x2+px:qSJ',..aJ|ujU.\lMJ|gr:§3(a)
pr Lo e Ll 3 NS ) B i (8
S - JalSI pppadl S8 3 OV e Y1 GBI 0505 (0

3

Al el Lol gl (“%} =g+ L

Usbaadl Jo o Uil J guasd | Koy it 1 ekl

ZBJ}.AN r‘-\:uu.ul.! (a#0) &> ax’ + bx+c=0

- ~b++b* -dac

2a

— 26 -

)

)

.
('S ]



a Yol it Uy 08, 4l ) Blae Jor OB iols dhua
idy b gdas JIIS ol L0 () gy ddoland] oy L5180)
i 31 Tl iy 618 L3 e Ly ¢ Jelow

3 +5r+2=0 Dsled! > (o) :2.6 JUa
Example 2.6: (factoring) Solve 3x% + 5x +2 =0.

¥+ 5x+2=0 L@.Ljau y uim 39J> oJ.MS
Bx+2)x+1)=0 ,aall Jolal Lols adass
xz—% Qjﬁ 31x=—lQﬁ3r?JU 3%+ 2 =10 gix+l=0
28 -3x46=0 Dslaedl J (el JWS)) 127 Jlho

Example 2.7: (complete the square) Solve 2x?> - 3x + 6 = 0.
2 -3x+6=0 Ll Sy Y s9d 5,08
xz-%x=—3 P+ px=q byl & eS|

B i o o 2ol
R RAR TR AaT: RRPAIILY T Bl
2 2 2

323 P sapl. - a8
(x 4]— l (x+2J—q+4 u..g.o
2=t ) el Gl Gk

= 3£4B0i

4

4504220 Doladl Jo (L 31 ldll) 128 Jlho

Example 2.8: (quadratic formula) Solve x? + 5x +2 =0.

2 +5x+2=0 o Sy ¥ 29 558
-5+425-4.1:2
e ] i=1 b=5¢=2
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Discriminant juely duy o) dinall dolne b - 4dac ,lAiall P
Ao ) Dolaadl J gl 59 > Sadadl Gl 5yLa] sase

ol Byt | | fadg e
d g Olii> QN> Jor gy
A IS i -y >
il Oblss OV x> g

o =5 —ax+20=0 (slaall J 2.9 U
Example 2.9: Solve x3-5x?-4x+20=0
x3=5x2-4x+20

x-5)-4(x-5)=0
(x=35)(x*=-4)=0

0

2

I
Lom

| s

(x=5)(x+2)(x-2)
x=Jorx=-2o0rx=

o5 B sl o r2.10 Jia

x+1 x+1
6 6x
Example 2.10: Solve —_—=5-—
x+1 x+1
FEE\PN) u-’ ..\_,;-JJ\ rLﬂ.A.”J.iAJ sHly (x+1) u’ u..s,l:]\ O 2

x#-1 00 bay
_ 28 -




x+1 X+l
6
(x+1) —=5(x+1)—-——(x+1)
x+1 X+
6=5x+5-6x
l=-x

y=—

Asleedd Jo dr g Y DLl odn i x# -1 Of comy

Radical Equations duydod| Q¥ Al
S oir Ao gy Al Oslaall gl
¥ a=b idolaad B inle Liayy .idls] Llas
ilS 15) 6l QS aag e’ = 0" Dolaadl (IS
n oS 3] Ll viiiod | J gloddl puds L) pudalnadl O 4338
=0 sl J g s d g = b dolaadl Jgl> IS O 45
5795 ol S sbal Bb a0 OF & g el o Iy 080
Lo {3 e &g do L] dolaadl gl}kr J5 o0 il o3 W8 015 1)
Ao Daleel) Yol oy Jgloed| Sy IS 15
ANr+2=x-4 Dbl | 1211 Jla

Example 2.11: Solve Vx+2=x-4

2 5
(\/X+2) =(x-4)"
x+2=x>-8x+16
0=x’-9x+14
0=(x-T)(x-2)
r=2orx=7
22 & 242=2-47 0l dos x=2 bodis gisally
3=3 & 2+7=7-47  Of doux=7 Loks
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Applications o Lo

Ay M) el 5 5le Y1 a Yy 5 Volaa gl pdinas
iin a1 s ¥alanlly iy pdl s A1 O¥slaalls
0555 (pmatn it dagd sl Y C¥slaadl oda = 3,0 O &b o
Ol il ialas oy e (6, Y G, L) s o ] diay
alg Ll PEATIER
A=P+Prt dslaal P ing dxgl 1212 e
Example 2.12: Solve A = P + Prt for P.

Jols P sl (e b} Ggllaadl inall) P 5 ias Dslae o
sl s P Jalne e el o5 S jiie

A:P+Pﬂ

A=P(l+nt)

A
1+ rt

=P

s-_--é-gz‘2 dslaal 1 e .Lq-‘gi s4:13 Jli!
Example 2.13: Solve s= -;-gt2 for 1.
s Ui (Calbdl anall) 1§ 51 Gyl e Dolae oda

s—-l— -
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L) Jilaadly JS Ll 3 (gl gy 55 o 8 o
Cidgall o pemall 3gadl Bl i OF (g3, (0 6 ol il
b LSl e Gyl oSy s o el plaseraly U3y
(¥slaadl pn ol of Lylsn ) Wslan s 5S5 iy el
iy by Walaall > die g ised) OLaSII e B Cinas
Ao ALY > e Llas 16 06 ol
Lo Sl LM ae Mool Jlsbl Lgl ) w36 edio 1214 Yo
s JS Jgb gl i lize Lor s

Example 2.14: A right triangle has sides whose lengths are three con-
secutive even integers. Find the lengths of the sides.
Sketch a figure as in Figure 2-1:

21 S B LS J_(:;rﬁ\

x+4 X xzc\..o,..asid_gbd\uo,m
v 2=y gl Ll Jgb 0

x+2 x+4= gl Jsby

21 S5
106 4 b ¢ Nl G5! B edial) &y lid 4 b5 Godans
rj 0‘3 a2+b2=02

X+ (x+2)? =(x+4)°

=3 =



X+xt+dx+4=x"+8x+16
2xt +4x+4=x*+8x+16
xt-4x-12=0
(x=6)(x+2)=0

x=6orx=-2

x=6 03 S5 ediall p il Jlghl O o (g Jogi 0 I Jdly
X+4=10 x+2=8

Variation Jiﬁ."
ILSaly sy o 1S chuad iedl Bl pisery
oo O o Lol 5y 90adly Lol sLas Yl
Lo iy 6l Iy Wbl uially oy Jls
Ol izl o 8T ol e 3 odow 1 O il
oo o Gsls uiedl D> Jazisy il 0l izally o 2!
pSci 9 U | S o gl eo &l i a0 b ol
ROU T APPSR R WIF

y=kx ZJ.(.‘Z‘.H =4 &8s Direct Variation ,il_wll .l 04599
BNl o o) s o) LI TN oy
(r G dadlyy ) x Joas,alay i L

5 SV el rgli g po o b ks p IS 13) 1215 Y
q=12 Lkis p=300 <o\ 13) g d¥L p

Example 2.15: Given that p varies directly as g, find an expression for p
in terms of ¢ if p = 300 when ¢ = 12.

g =12 Lxs p=300 of Loy p=kq Ob ¢ - LJJLJ.MP of C-

P=259 o ;o3 k=25 51 300=k(12) s s pedl odgy y 923
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bygaall  BNe S il Jaay -InverseVariation udad! pacidl

wyRy Ml INRNL stJLJ‘ ] L | il Zand ¥y = Kk/x jf Xy = Kk
1= il o

-C}?-” U3

X co L...S.c-’ Yy J.a.i.d A

X td m y h‘MLuJ id

3) 1 DYy 5 oo s ot ao Lo i s OF cale 13] 2216 U
g=8 laks 5s=35 cilS

Example 2.16: Given that s varies inversely as ¢, find an expression for
sinterms of tif s =5 when t=38.

O g 5=t RS Sy 83 1 oo CuSs i s Of WU
k=40 51 528 o huami weill 0dgy i gudly 4l 1=8 Ladie 5=5
.5 =40/t f"; A9

2 = kyy JSa s BNe Joint Variation I jiinll ,uid) Ciay g
49)\.-.” oda Lo 45 ¥l &l | PG g

VX J-A-.-AJ Lﬂ.u Z f.a..u .

) S S J-»o\:- - b.),[o z xS 2

Lodis 2=3 Olg y o poid Ui s x OF caale 13) 12,17 YU
g DYz Jies I BV gl oy =5 x=4

Example 2.17: Given that z varies jointly as x and y and z = 3 when x =4
and y =5, find an expression for z in terms of x and y.

u.u.r-?-?;ﬂ)id'm_g Z=kry Ol y x yuid L:...v).».a.u 2 0 b

k-—-— _9‘3 ked. 5uL9J..aaur...d\o.L@ua.\J.|Jb__9)’ x=4
3 .

AT RN IVAD

x paey 3 aldl pdadl e W i P sl 15) 1218 Je

- 33 -



=1 a=1200 Lkis P gl y=81 =12 Liie P=24 IS

Example 2.18: If P varies jointly as the fourth root of y and the square
of x, and P = 24 when x = 12 and y = 81, find P when x = 1200 and

_1
16

Of o Say il gape v I il Il sl o i P OT Ll
u@.}*’*’-“-.’)y=81 x=12 bis P=24 QT Cum 8 .P=k;‘[)7x2 ;,..S.'

2 P .
p iy NIRYY ‘k=T18'~9‘ 24= k813127 e Juasm ol 0l

y

18
4f : by g
+P= 1/165;200) - 40’m0 O’b y =-11€ & =1200 Lﬁm r..i. &0_9
Inequalities ol b Ll

iygeall b Lao )Ll GLST oSy b v < b iy a<x cilS 1)
odon i | Ldidod| Slu e Y Lo gare o gl a<x<b

o Gl Jaadly .(a, ) 5 gl P oSS g do- gadad| 5 dl| G M
{ilse 5 a<x <b Lylaadl G ) Lz | 31us Y1 de gas

dgudll | el bl Jusadl

a<x<b | (ab) —_(:'_'T’) e
ssrsh | [mh) _E'—_'})—)x
a<x<bhb | (ab] _((1___'[})—_>x
a<x<b | [ab) _r—_z—)x




Rl | el Sl S
——Mx
x>a (a, ) a
——f———
x2a [a, ) a
————>
x<b | (- b) ) "
— >
x<hb | (- b] : g

g adl ikt 3Ll Jpdond) s 112, B] 550 e s

Nglias Ol i g daslildl

bygma 09— I8 dolaall e P9 Ol uicin uJ& Ly Loadl (g g

ol dad e Lylaadl v dasniy s b 3l Do L] dals

0355 pediadd B>y dad oty e & Laally Ol pisall o8

Gy dovowe Dlaall s ) dadl Al oag Dolaadl J o
Alaal] Jodl de gare J glodl o gazesn o

L gazen bogin |-Sg .0LsilSa0 x<=5 e +5<0 Olisy Lall 2219 JUia
 (co0,-5) @l =5 o8 i A slas Y S 0 G5Kad1 ol

Example 2.19: The inequalities x < -5 and x + 5 < 0 are equivalent. Each
has the solution set consisting of all real numbers less than -5, that is,

(=0, =3).

OS5y LSS dglawse ] Wb o B lall Jo- ddes 0581y
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€ o i 3ds (6 dlSe 0SS

0955 ale<ble ac<be g a<bh oliliall - deedlly pall .2
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we>be ac>ab a<b ol laall el dda gl g L g
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Linear Inequalities ' dudael| ) Ll
axtbh<0 3 artb>0 LI ) guall oo ity ddasedl & Linadl OS5
o) LlSan Lylta ) gl gous Sy gl @3 +5<0 5 arb20
d9doee ot e L 0SS el iy Ll dale dinary WIS Y
J> 055 ldl Jgdadl i gal) §) gl Gudiyg J glod] o

o el iy il 3 sl e b o il Gl
o ¥aladdl

5-3x>4 1 > dosl 1220 Jihe

Example 2.20: Solve 5-3x>4.

5-3x>4
-3x>-1
1< 143

3 aadl Jo b B e s i 0B dnyLsed) oo OF i Dy
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Nonlinear Inequalities dulaiell pé QUL
sl oo Jolo Lo o Y1 b 2SSy A iy Lol
Sy (W) oy 1 o 45T & Malna o) Lo & Molaed daid
oda e (sl OLS s LohlaW Sl Sl 05 0 Ll
5 (55 Uryo Lol 095 il it 58 3 50 s 0 Vlnd

Sl sl JS 5 UL of 5
iy inall Gglan Jale JS Lakis 068 31 Bl e .1
o | LLEdY o

ol Bl gy slas Yl las 2
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(= DE+2)>0 5 do gl 1221 Yo
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Example 2.21: Solve (x— 1)(x+2) > 0.

sl Gald (x+2) (xr-1) cus Al G -2 1 s i ) bladl
don (272 S ) L pod) L) G go slie Y1 s g
(L) 5 (2,1) d=0,-2) i@ ) Ll slas Y Ls . |
Jol 0585 o8 g v x + 2 x =1 0S5 (-n, -2) 5] 3
(0+2) 9 4l 095 (=1) (=2, 1) il b bl (Lo go sl
(1, 0) 5,8 5 Ll Wl 0yl ol 0558 8 (g dr g 0555
L go 0l 56 055 o pag Uorge oliiad] Y8708,

0355 iy Lo go (- 10 +2) 08y Ladis sy el et
(1, 0) U (=00, -2) 0l sl o ol e gaso
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W =1 5,181 - < +
Jlox+2 5,la) - + *
ol fol>5yla) + =
4o g0
|1 ol b g ] |1 |
I 1 1 % 1 | 1 >
-3 -2 -1 0 ] 2
22 S5

Clbadly ¥alall 8 dallall deuddf

Absolute Value in Equations and Inequalities

dhisy sl 11s e dadl a o) sual) dillaal] dad) (Uatin
(23 e g WS) Jo Y

= | =4~

Y

2-3 S
Lillaall Ll p 0455 b 1@ et 3l oy Blad] Jeall
b-al ol la-b| :4l g 3,4l
Properties of Absolute Values adllall aadll galg>

d=ld o=

labl=lalb| |a+b|<]al+|p
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Example2:22: (a) |- 5x2| = |- 5|x2| = 5x% (b) |3y = |3|ly| = 3]y] :2.22 e

Example 223:  [5+(-7|=2<[5|+|-7|=5+7=12 :223 Jt

Absolute Value in Equations ¥alall @ ddllall deudll

106 Lo ik s @ o Blaed) a5 [a] OF o

bdss a=b a=-b pdolaal) Ll 065 [al =0 Dolaadl .1
b g3l a Uubwdjuy‘}l\&mup a dss) .b>0
(b of

Jod Bis a=b wa=-b pdslaadl W [a] = 5] Dsladl .2
Y Lla oolae ) g b od o sy Dolas
S Ay o) A gig dilbed) dedl) 5oy e (g g

Example 2.24: Solve [x +3[=5.  .[x+3| =5 J> 1ol 1224 Jia

x+3=5o0r x+3=-5

x=2 x=-8

Ax=al=13x+1] J> a>f 1225 Jia

Example 2.25: Solve |x - 4| = |3x + 1|.

x=4=3x+1 or x-4=-(3x+1)

=2x=3 x—-4=-3x-1
5 3

x=-= e
Absolute Value in Inequalities CloLall 0 ddllall desall
iz gosadl Lylaall Ll [4f <pisyluadl 055 p>0 J 11
ST 0085 Jo W s ) a po Blaadl Of &) —b<a<b
((2-4) JSa Jal b oo Joo W it 3} 031 0685 a O b o0
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a>b ol Lol i28\Sae | gl >bLA.JLuAJ‘Uj.SJ b>0J_<J 2
o ST 08 Jo W i I a o 8lud OF er) a<-b
(275 S 5 WS b e oWl il e dal @ O4S ob

a a

ﬁ— M
-b 0 b
2-5 JS
Example 2.26: x-5]>3 12,26 JEo
=553 er x-5<~3
Xx>8 x<2
Parametric Equations du el yldt Q¥ Sl

g s> Ao J Sy ax 0 J§ ddowy goein dolan fpund Sy
Jlsadlodon iy el oy @By 1 W oJU e b
=uall e LLAS sl | Sauy u..m.c.li & ol )L ¥slaad
o Sy Uper £ Bl oSy b Wy ot J il ] dy oty
s oeadl dbie 4y do o g PR W T RPN Y S
Ay el )L OYslaad b puncs
= 1=t i ) W1 OWslaadh sdmeadl oiall ol 1227 Ut
Jy=2+2

Example 2.27: Graph the curve specified by the parametric equations

x=1-t,y=2t+2.

- 40 -



(e o BNl 3o ) slaall o £ i Sy 6 Yol Lam
A L Dolaall 31 dad g i gadly o (=11 o Juamd
o0 dagd |3 1Sy y=2(1-0)+2=4-2 Jo hasid y sdo
C :dﬂSOAJ;’:S‘}’by=4—2x sl e (x,y) daid] o
w oo JS s lae ) o Say ol priy A3 OB 1 Lo 358 sy ¥ ]
F52) W Joesidls Bl o) w ol Jgdr 309 b 51y

(2-6
6r’
t 01 1 2,
X yil 21 4| 6

— 41 -



i/ ac
www.ibtesama.com
Qo Luir Y] alo S.livo

Wwww.ibtesama.com



i P-v1 | R NT- S
SYaall ot
Gipdle b el AL > V/
Gapie o ST b el Al >
Tt g Judx ¥
G alael Aaiell pé alaitl V7

Systems of Equations ¥ alall edas

AT ol edalan on C¥olaedl o5 05y
03505 a1 3 4T Cliol g 25
— Lol b ‘)\_:'.o.u Y Lasl! r\_L'as S
Dl S Ui Dpouni Wians 1 & izl
Pl gl sl s o iy ol i o] L
e Joai o Jplodl aar Lo garee oy pLLII >
ol g s bl il iyl o g
.Equivalent Systems 4:8SJ| r.la.JL»

- 43 -



Pl o g 05 ()= (4,2) O G 131 J
Example 3.1: Verify that (x, y) = (= 4, 2) is a solution to the system
Y+x=0 (1)
2);+3)! :-—2 (2)

X 24+ (-4)=0 «(1) U:ch_@' y=2 ax=-4 06 Lakis
O iremen LS Yl 0dn OF Lagy 2(-4) +32=-2 ((2) dslasll
pladl Jo 055 (1)) =(-4,2)

iyl b Ol iae suce b sl Uslaadl LS Sy g
ol 5y gaadl 0wy wCulg g Cum cax tax o tax, =b
sl o gy pLBII 0L L las pllidl o¥slan S Ol 318
.Linear System

Sldadd) UM o Lot ¥slaad) LK1 (WLl 3l | S
e Yslaedd L)
gedsle b L
S b o3 islany g5 h sl Jlaad 2
S0 Dslan Cisliaed Dslaedl BLoY oS Yolao Jlcl .3
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Solving Linear Systems in Two Variables

b Ny ke D e (i) gl 3l ) o Say
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B (Dol S ) pr i) L) Boleo

ol oo s 3 oSay il oda ol |
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Pl ol 2 055 llam Yl oda Ol Jodl e aSTal) i
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Al haedl s sl Y L) odgy e,
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b a i a=bh sygall 9ol Luxrg 13] 3 2 CP BT
13) Lol wgoto o pladl OF e Juy 10 Oy glase 8 Ol
OYslaadl e ddlg 1ie Lagd ¥slasll e 9 Al Gy o
s dr gy Jiws ot 09 pLBII OB 0=0 89l J] T
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Example 3.2: Solve the system: plldl o s 9l 132 JGa
“3x-y=5(2) 20% 3y=6 (1)
(a) graphically, (b) by substitution, and (c) by elimination.
Sl (@) sl () sl (@)
(31 JS) edslaedl o dslae JS o)l (@)

y
5
(-3.4)
Lt L Rt "
2x+3y=6
-5
-3x-y=5
3-1 S5

298 Lomid) oy STl (3,4 JU"‘E’J‘E’L" [“"“JH&J’"C‘M
o et (2) dslaadl (1) doladl B y=4 ax=-3 dadly
2(-3)+3:4=6 -3(-3)-4=35
Il A
6=6 S=5
rU-aJ‘ g s gl Jodl (-3,4) 0 SR
<= |



DV ol indl | slom Y edoladdl gd> ] Jow 14
(@) Dslaadt Jo g8 V1 5L ¥ OF ilyy =91 il

ke e (1) Bslaedl 3 3r -5 Jlaially go i gudly

2x+3(-3x-5)=6
-Tx=15=6
=Tx =21
x=-3
o.l.i J..a:.w.v (2) dolaadl us daud)| o.:\.g.g X ) u"—'j"-JL'J
=}=3)~y=5
9-y=35
y=4
Pl g a1 ol a5 15,0 (43,4) 0S5
Gty SOy y Jalao O dow 3 sl 3 2) Dslaadl O ey
sy g liall 5 45l & T o(1) Doladl iy Jalos aa
(2) Dslaall munaiy sylaYl 3w
Ox-3y=15 (3)
(3) Usbuedl Ld] Uliany Lliay (1) Dbuodl Wil 5
S G Ysladl ol s o
~Tx=21 (4)
“3x-y=5 ()

@) Dslaadl b x dagd o gadly ar==3 «(4) olaadl ay
' L o e WS =4 0f o
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Solving Linear Systems in More than Two Variables

i o g risn 0 ST 3 i) () o sl oS

OY¥slaadl gu>| o . Substitution Method gadsad! PYIp
Sy Uyg s, W) il LYy Ol el o lowy
& 4= rLJ‘”u—l" Jpasd] O¥slaadl Ly & iad) 1a e
Jadd) odn ) el uS»\ PR KYERRGH JOPCN | e J3| e e
Uslaadl 85 Jomy cdly iin b Dolao Lo o
SU pd ol ods jsuadliad o (2 gadly el iy
RGN

s ©ldasll L .Elimination Method ENES] ol yla
IO B K K N LN S LRV PV [y NN
S35 «¥slaadl G| ¢ Ll OYslasll o (0 O il
Lo 1515 ool izl a1 s o g giom pllas ] Sl
ko 3 Wslae o Jruams g el 0dn ezl Sl
sall dad e o dly paudl 1Ay Ll Sy 1y Sl
Ol piaall J od o Juans

b Ol g b eum a=b Sl 3 Dslas 342y O iU, S5

ol

(]

Uslao Sy SIS Sy oI 1818 ot b o) OF ey gloio
c¥alan sds J) o3 e 020 J) ed s ¥slaall o ST ]
L}yj&m—uf—ﬁdjiv rLL:Jlubu\rle sde oy ol L
OYslaad) )b-ujia JJMJSJ’U‘WJM‘JOUJLGJY s
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Example 3.3: Solve the system: ZrU:'a;.H J= 4 ‘9{ 133 JGa
-3y eaid (1)
2x+35y-2z2=-9 (2)
“3x-y+2z=2 (3)

Sdsdl dd b ‘.\.u-a.ut_ (b) 3 jar 9 4y b r!.\saub, (a)

(a) by substitution and (b) by elimination.

st Jas x ol Y (1) dolaadl Jou  (a)

x=3y-2z+14 4

s (4) Uolae 0 3y =22+ 14 Hladl 1dg x ey gadlys
(3) «(2) udslasll
23y-2z+14)+ 5y-z=-9
-3@y-2z+14)-y+22=2
OF gty il
lly-5z=-37 (5)
10y +8z=44 (6)

O dos y 3w (5) alaadl Jous
_ S}
Y
(6) dslaall g w’\J\ Sl ey dad s 2 gadlig
-10(53'37)4-&:44
11
502 +370 + 887 = 484

38z=114
2=3

y (7)

sapdlay y= =2 Ol do (1) Bslaad) 2 dogiy iy gy
05559 x=2 Ho s (@) Dolandl 223 5y=-2 ¢
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(2,2,3) SN s 8y ey LS Jodl
¥ Bl (1 Sey = (2) dolaadl o (1) dolaad) Cinss C,La, (b)
01 dow (2) oy

2x+5y-2z=-9 (2)
-2+ 6y—47=—128 (-2)- Eq. (1)
11y —-5z=-137 (5)

Gy (1) olaadl Jliof &N BLoY (3) Dalaadl O Jaed g
1(3) dalaadl o x Bl PIRELY

-3x-y+2z=2 (3)
3x =9y + 62 =42 (3) - Eq. (1)
- 10y +8z=44 (6)

Gl Jodl s () GBIl (6) «5) p ] J 92509
(2,-2,3) ads J guasdl

dod ol gl b

Partial Fraction Decomposition

Dgde Ol g of dus L Sl Lo Land Llas g ,uS!
P - g 3
Proper > |,.S v oS0 g d s e B f o yy S DL
r\.l&..x_“\ Lasls oSy Improper > & \j,..S o, S M-
biS Byge 5 dod b WS LLS Sy g ghed] ded]
e S ) BLAYL 250>
#yufﬂng;paﬁsdiw Uk o Seuy
I Jebold DU s L) oyl e Jole 3 ST
S alS Say g aolin i oS 6l OF I3 g . Jalge 5
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.Jj.l.)- o,._.Su_.orl.u LGAJQ dalsisen d*b.tb- u..S 4L 4ae0 BJM
23S el ¢ gusmadl Vin e llay . BT o1 501 oy ) o
S il 2

2
# gaomeS oS isle| (Sayy . > b S omy 134 JGa

Py

-

x

x+l
ten as the sum of a polynomial and a proper rational expression:

9
X I

S e s,

x+1 x+1

Example 3.4: is an improper rational expression. It can be rewrit-

dﬂrw\k}*’mu&uw&&ﬂsﬂu " 35‘]“0
2x+1 Pl 2] }.1x.l‘uj§4fguﬁj X+x=x(x+1)

x+x
l 1

:@,,u Llas ol ato sl oSy gy 2L, T

X+x x x+l

1 : C e :
is a proper rational expression. Since its denomi-
L.

nator factors as x> + x = x(x + 1), the partial fraction decomposition of

+1 . 2x+1 1 1 , .
2; is < = —+—— as can be verified by addition:

3

X“+x  x +x x x+l1

Example 3.5:

| | x+1 | x x4+l

+ ==
X x+l x(x+1) x(x+1) x"+x

Ol ¢ (S S
oo Yol 4 udy W1 0 0 o i)

is already in partial fraction decomposed form,

Example 3.6: —
x°+1.
since the denominator is quadratic and has no real zeros.
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13) Lol Wl gghsdl ) 5,80 Jist Ui S0 OIS 13)
52 1o Jgpanl) Lol s 5 i 6 o) OIS
S U Olghsd) w03 > uS S BLLYL 390>
g il

Jolss 0o ol b0 b dldod day pliad) GLST sl
J)UJ.&ML“J‘ ii.o,-‘,.xllo.a_,‘.lj.ouj(ax+b)m °-’ﬁ"“°“uf""1“"
(axt +bx+¢) OJM‘JM

JolnS i) Sl pp B gama S5 (@) o Jolo JSI
5ygall B aa
Al A’ Am
2
ax+b (ax+b)* (ax+b)"

Ngad byl 0 Ggu d g O Nalae 4; o

i | _)3_..S)| b 45 gaes u_& (a + bx + )’ J.o\:- Jﬁ.\
il b par JuoloS
B x+C, Byx+C, bx+E,
3 =g g Frdr—s n
ax“ +bx+c (ax” +bx+c) (ax“ +bx+c)

Mad Yo 0y g D ggome 0 Nolas G oB)

5 b Olgksl (B il )guSl § gae S9ls f8 5
o0 ol Uy @ ggaeall @ Molaad) dwla] Dolas Jo Jaased
A ggzeall OValaadl e Jgramel) Lnle Y Bslaadl J> s

.
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ot el Y1 Dolaad) Jod ol Gy 31 O 6SG5g
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dliseal) x (g gd) sj.bJ\c:,aqu" o2
o ) g lilisedl x g8 & Nalee blslae .3
Ay By G & Nalaall o3 3wy sl ol de goses Jo drgl 4

A 598 J) = S Yl 137 S

Example 3.7: Find the partial fraction decomposition of 24

o3 =D+ D) -1 el oo Sy o I s
t.asa.U.lL, X+ 1 aelde

A4

=] =1 -+l
Efgb‘mUJL&d‘dlﬁJwsz-luéogﬁJu‘yﬂj

4=A (x+ [)+A5(x-1)

S Jrazs ALy

4=Ax+A +Ax-A,
OF o ddliseall ¥ (538 pramny

Ox+4=(A, +A)x+ (A, -A,)

$3as Of o &y Wi x o8 peasd dompoens dyglocsal] 055 g
100 T e NS dilaseadl 1 (g5 & Molns

A +4,=0 (xJALu)

Ay -Ar=4 (ol gdl)
29SO 9Ss s 41=2 iy =-2 1>y | urws VY
[ shrall Sl 45 5]l

-



Alternative Method A A b

¥ s gl Say gl ¥l Dolaadl b 8 gSie sl oo Y
) Gyl 55N S lS Lt 3]y 51 olanl) b iilisen ooy
L el L) i 5ysieall il LSy dons i Lol
Cilge 6 ot S0y Ay o e ) Jaasei Wil el
S Sy & pieall el i L3S 08 Ala 08 ) o 65
o e x el 610 Ll Sy L L gyl i
YLl ol g Sy Judlonall sl | d> dis Sy ¥slas ol
Ayl ) s ks Y

JUsadl o gl Dslaall Jo 3 iy ity il ot 238 Jia
gl

Example 3.8: Use the alternative method to solve the basic equation in
the previous example.

4 =A1(x+ ])+A2(I“‘ l) L—J\s WL&%‘ AJ)L’.A.”
(e Jam x=1 e gl

4:AI(1 - l)+A2(l - 1)
4=2AI
A]=2
'u.ltv J.\a:u x=-1 O ua.uyl..”.:‘g
4=Al(- 1 + ])+A2(—l -1)
4=—2A2
A, =-2

(2]

o oo ke Lo o) dmidl i a9
s B s



S 139 Je

2x3 -4y
(x+1)%(x%+1)

Jolro x4 101 oo Yy . Jadly Jlows plially igim SO 1in
P IR ] IO [ PR < | B PO IRV ROV k¥ P S S
i yaS W dr g iy g .(x+1) gx+1 R ;)\5 Slasy

229 X1 e+ 1)+ 1 bl

Ay g8 ]

(x+l) % +1)

Example 3.9: Find the partial fraction decomposition of

2x° —4x A A, le-l-Cl

Ny D - T
+D?(E+1) x+1 (x+D)? x4+l

e ez (e 77 1) b B ST e

20 —4x=A,(x+ D2+ D+A2+ D)+ (Bx+C) (x+ 1)

O das MLy sl Y1 Dslaall o 0ds 0S5

23 -4x=A 1.1'3 +A Ix"' +A x+ A+ Azxz +4;
- BI.\‘3 + 2B|x2+ B x+ Cl.r2 +2Cx+C,

OF dond ddliseall ¥ (5 prazany
20 +0x* —4x+0=x’(A+B,)+x(A, +A+2B+C)
txiA; 8 +2C ¥ A; +4;+C;)
$3b Oalas golas oy Wx (b JS) s Dalaall U8
o e bl gob b ddisadl x

A+B =2 (x° J.a\.u)

A +A,+2B +C, =0 (¥ Jolaa)

Ay + B +3€, =4 (x Jolro)
A+A,+C =0 cal

oz (B s



Bat) (C1=-3 B8,=0 Ay=1 4;=2 }”ru’-*” "'LGJ J"‘"J“J’J‘ujgw
Sl &gl gl 05 3

2x} —4x 2 1 -3
+ +

+D2E+D) x+1 (x+DF x% 41

Y alaell dudadl pd olalll

Nonlinear Systems of Equations

s b o 0 ks 8 olas Lsiqd.ll\o‘)!.ab.d\rua J)
AS Wl ol Liisd) gl 0 ss 4 065 26 5] (sl

b & e 5 sl b (Bl o ] S

oSesy Uslae J S o i Graphical Method dubud] ddd ol
5 Bl odn oty gl e I 0 gl B 3
Jodod! o Lidlodon wlili>| 045 Ll Polae IS
L 5 J g 2l | Ble Dy ) odgy Sy g pllal) diio|
G LW G odl G Jad bk oSy edgidiod] J gloel]
iy ) adn plasenal Saall o I

O¥slandl gu>] J= Sy Substitution Method yadgaidl 4 o
s sy 65 Ol ined| DY O el ao{ slow )
o ol el dad wyaoed O¥sladdl SL il L
hiaall 3l o dytod ingil odgy iyl

== &l_dunll g, > . Elimination Method Wil 4 plo
s Bl Sy o LIS o5 e Jguasel) ¥slaad]
s d g owldl Uslaadl Jomy umlg ol 0 a1
hill b o8 o o e gl okl
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Example 3.10: Solve by substitution: s gadly il J 13.10 JU
| x+2=11Q2) y=x-2(1)
S i (@) Dolaadl b (1) Dolaadl oy o8 gl
x+2(x*-2)=11
1 s x Gegd 3w Y 0dn 41 iyl Dslae s

2x° +x-15=0
(2x=5)(x+3)=0

1

2x-5 or x+3=0
X

x=-3

0
g
2

5 e (1) Dalaall g oda x o ey gaid g

sl Sl el -
y“[z) 2_4 x-z LGJ.\.P
y=(-3¢-2=7 x=-3 Ladis

3,7 (%lﬂ o Il 35 o5 0

Example 3.11: Solve by elimination: rdod by rU'a:H J 131 Je
- =72 X+ =1(1)

alaadly (1) Dolaadl parr o LWl olaadly 2) Dolaadl Jhdcialy

Sl Pl e uasi )

* +y=1 (1)
2¢=8 3)

Of 425 x 3bm Y (3) Dolaedl Jous

=10
x=2orx=~2

— T



:u.l.r- Jeazs (1) dslaall L ‘,..s 5 sl

¥ =3 = 22 +yt=1 =2 s
y=i\/§ 3i y=—h/3_ djgaj
y¥=-3 & (2 +r=1 = (gase

y=i\/§ _9i _V=—f1/3_ Q}g.qj

(2,i3),(2.-iv3) (2,043 ) (-2.-43) g J gl 0SS5

U_QUJNJ M‘ﬁuﬂbwlrh&d Lale &y ,b drg Yy
Jib e 1 g 4Ll GBI 0 G,b bis o ] Ol 1 i
Lo i) J glond) oy 3l 1 i b i &yl J gl
bl J gl slom Y Lpalasead sl doiine 3y Sas 3y

= BY =
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g it
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Analytlc Geometry and Functlons

L Jaddl 4 8
o) il ¥
Jlgudt 74
Jodl o v/
! JSENN Sugtt v

Analytic Geometry el gl
Slae Y1 ONeay pdalaze b 0 (6505, LY o O oSy
o W i 5 Olablizn g ol dlus Y1 yglome Oliansy g o]
AUy x g oy bl bghasdl ol dxf 05K dale diayy
St 31 O YI (g gino Olady Olygally .y oo gam ol
eIldly Sl Ja¥l iade g Lyl o sl im)l J)
s o8 Y gl e ) il IV LT ]l My
]

(a, b) al.t_p}llu_au_;,d\CJ)l ; d-lg) dslg by ua g
N oy (41 JS2) Ol Yl G giue b bl | Ll

= B0



Ol gy (a,5) s Y o L5 0 z3 bbby Pk SO .1
iy iy i pdl o5l

y

Al

P(a,b)
s, 3

III IV

II

41 JS&

CBYRES ] ('u“-' = Palxy, 1) 3 Pi(xy, p) e e Bl

d(B.Py) =(x, =5, + (1 = 1)}

(4 -1) (=3, 5) el o BLaed) Lyl 140 e
Example 4.1: Find the distance between (- 3, 5) and (4, -1).

= s 9xd Uy Py, ) = (4,-1) Ofy Pyxy, 1) =(-3,5) O o iy
dlall daco

d(PPy) = (xy -1, +(3y - 3,)?
=4~ (B +[(-1)-5T
=72 +(-6) =85

an,-?\ JSI Ll JSall gn i 3 Dolaad Ll JSalls
o Wlesd s s OF cumy slaed) s 21 (a,b) i3,
o) i llly ke Livay L3S o ) o Lasen 05508 J gl
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o o) = dilises J gl Bds d> g Sly ) Jalases 3loe Y
okl L ol ioiay DU s Jono ) o
x=2=10 Dslaeld LI JSal )l 142

Example 4.2: Sketch the graph of the equation x — 2y = 10.

Sl S 088 i ooy L) g oadl) s 5
A2 S8 oo o WS adians ks § Vi

x||-2]1 02|46 |8]10

y||-6|-5]1-4|-3([-2|-1]|0

(4 /
K 17
Intercepts dsgladll 5l ¥
kgl Sl g abliy ) il gty dols sl s
y JJ"“‘J‘J X _)ym.” co

e i) IS g bl ) i) x Sl oy
7=0 g w3l Ys x ggmall o g ghiadl sl x sl

X dagd dryly

= 8]



b».bj._i o.)l::r.y_l ug.u_g 8% _)j:».nﬂ u.af;.[a.mj\ FJ'.?JLgy _)ym“

Y dagd oy lg x=0

10 Ll JLadl 5 x gl 0 g shiedl 5 5ol 05, 143 Yl
¢ ) Lal (10, 0) kel dis x ygoall phiy iyl JSall OY
syl gty kil SN OF o =5 548y y el yo g shaial]

.(0,-5) &bl by

Example 4.3: In the previous example, the x-intercept of the graph is 10
since the graph crosses the x-axis at (10, 0). The y-intercept of the graph
is =5 since the graph crosses the y-axis at (0, -5).

y=4-x souall de ghiall o15> Yl Aol 144 JEa

Example 4.4: Find the intercepts of the graph of y =4 - x?.
Y o E_}.La.uJ\ g2l 065 SEEY y=4-0=4 Ol dos x=0 2
0S5 by x=12 o Lgi 0=4-x 0 domi y=0 a2 g9 4 g
2,2 epx o E«;L.ul! ¢ 5l
Symmetry | (P

: )] i xwwmnuj&
(a,0) cals b gowadl o (-a,0) i JS <ilS 13] y ) gos

.u.awd\ u‘l"
(a,b) cals b goadl Ao (0,-b) s |S <olS 13 x jgoo .2
(ab) caals Lo oiadl o (-a,-b) <olS 3] Jo¥l s .3
u—L" (a, b) c—als Lo u;.x;.dl u.l.c (b,a) <S\§ 13) y=x Ladl .4
u.o;us.“

= G2 =



: e -l y Ll

=>uadl O Lslaadl s Jo Llasg —x o x Wasd 3] .1
el ] sl Yolaze 3,

=l 0L Lolaadl s o Llia>g V=Y Waeat 3] .2

3 el ] ety Wolaze 055

o o Llamg -y oy clgll il By -x o x LWl 1)

Joo W b S Ll Wlaze 05 meiad| OB @ laal]

< W Lecd | ahywj'\dbdw\w\ﬁ&yd! T dlao S

sl dly ol st ¥ e st OF oy sy e Iy 8

a-;-w\muw\eu

rlaadl i Jo Loy x 5y LJ.LM.J Lmby_:x Wl 13) .4
y=x ksl J] Vi La O gouadl O

A Sl Sl aalg y=4 - oladdl oy el 145 Jla

Example 4.5: Test the equation y = 4 — x? for symmetry and draw the
graph.

(S ]

rJAl.bLmﬂu\.busy 4-(=x)=4-x" OB —x 5 x Wasl 13

(43JL)L:\)yJJMJ Ll )bwuowd\d_gi' Sy
UJL«.«J\QJ‘J,_.» dowd —p=4-x" Oy Ly e e gl
XJ‘?LAJMAHJLJ‘}JLMI.FMIU‘L;M Lowo
LJ)J.,a*Jl«Lwa %Mw|uﬂu‘d§d\ﬁu@
BTN I P H T u_m...o.\lm s .(ugl...]\‘dojzhd\u_a
iiall S5 5 A g x g 1 ] o O ]
Y gl IV e




ADNE

-3 42 -1 1 3
-2
-4
4-3 S5

Lo game b 0955 r>0 La ki Civasy C(h k) WS 0 23155001
Ol gl e 7 My C e dady (Ggunadl 5 dadl ol L) o

(44 12)

}:\ P(x,y)

r

C(h.k)

> x

4-4 S5
r>0 W ki iy C1K) WS o 315 3101 Dolae i OF s
=B+ == (Ll 5 g0aS)
S dslaad) s (0,00 fao Y1 dlais ga 5 5101 S0 OIS 13
2

.x2+y2=r

B g 851 5 51 e r=1 LSS 15
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Functions Jigd!

bl T 5ae ) a E i gaomall J] D i gazeadl opo £ AN OS5
Lo goomad| 10 Idmg [aaie D s gaomall o x i IS0 jaai gl
y yaindl sy .The Domain I GUss D de gemeal| iy .E
Lis £ dad ol f DI Coms x paiall by 402 E o ganead| oy
E Lo gaaedl po R 352l e gommadl iy of () oSS g 3 dbaiid]
U ,aig . The Range d1Ul ghay D jolis oo JS Jo gpni gl
quou;ud\r_gg o)\_;M\r,,a,RGM\jpaw\ ols

W)

DoY) ) 3 OIS LS degarme o D o i 146 JUke
sl s f o Sily Ui 20 e iy g, sas il
S b 53 gl gl s e bl e dalS S0 jauas
Lo garmall 8 R O3Sy dmomadd! 3lus Y is ganea b E O4SC8
i ) Loaallslae Y1 s gama Ll 6f) fxe NI 12x<20)
ATruth) =5 S53'5 sl "Truth” &S £ aass sy (20 ¢

f(President)=9 3 f(Right)=5 f(a)=1 NS4

Example 4.6: Let D be the set of all words in English having fewer than
20 letters. Let f be the rule that assigns to each word the number of let-
ters in the word. Then E can be the set of all integers; R is the set {x € N|
1 €x<20} (i.e., the set of natural numbers less than 20). f assigns to the
word “truth” the number 5; this would be written f{truth) = 5. Moreover,
fa) =1, firight) = 5, and f(president) = 9.

2 8 doinind) 3las Yl S Lo game a D OT 5,0 147 e
ga+b) g(a)+g(b) g(-4) g4) dsl gx)=r'+3 L I s2clill
T2 gdo 9 Loy
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Example 4.7: Let D be the set of real numbers and g be the rule given by
g(x) = x*> + 3. Find: g(4), g(- 4), g(a) + g(b), g(a + b). What is the range
of g?

g@)=42+3=16+3=19 g(-4)=(-4)2+3=16+3=19
ga)+gb)=a*>+3+b*+3=a*+b*+6
gla+b)=(a+b)y*+3=a>+2ab+b*+3
ST sk sue & O &Yy g J guadl 3wy | Sau g
0553 LAy g =2 + 323 054 oF o el (53l 3l o
.{yeRlyES} 98 g Se
sl e D1 5T oS OF oSags 1D E DI J) 5l
IS e sall el pliias Lo Wiy fix /() O D e
A BN ) gead 45

fix)

4-5 S5

gt Slae Y1 Ole e Lo iale Dy sday Gl 06558
Sl o yidy O SUL iy SIS g slies Dl sl Ui e 13
pdp iy pldiall e D5 mall i idind) slas Y1 IS i gares
AW o Sas 3l ST 51 renddl GLIL i garead|
Y sl San Glss ST ax sl 148 Jia
Example 4.8: Find the (largest possible) domain for

x—z (b) g(x)=vx=5 (c) hix)=x>-4

X+

(a) f(x)=
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x-3

(@)

3 f3Us 068, 1in Jegx=—6 s gl x+6=0
fx e R|x#-6)

25 O Lgi =520 U5 bk lz.xm V=5 ldddl 08 (b)
AreR[x25) o g D11 Gls 06 liug

Wy L) sl Y1 poasd doma ¥ =4 i) 08y (©
R oga h A1) Gl 045

The Vertical Line Test il b lt>|
4>y G Lol do gy AN GUad) 3 x e dad JSO OF Com
e iy OF oSy ¥=¢ gl J1 sl 0 7 /1) Of ey y
soadl oy oI Lsdl OIS 13l LS e sl 5,0 D11
WA poeia 98 09 Y pouall Ol susg 5,0 0 Y
Ay AadUall (Sulll Jlgut
Increasing, Decreasing, and Constant Functions

31355 fx) dad OL8 ax Wyl bodiey Lospd b x o C““"J .1

SO el I )Ll o A1) sovie & o 0

EURUSY Lol )l Increasing Function 545150 &1y e

S5 Dl Ll O jad Lilas s 5y) 50 O 0S5

=l =



Lagd Cuadls x Colbjl LalS @8 b x 0d aiaxd o b .2

05 crondl 1 ol or D1 imin iy o 03 A0

Lof 8 24) 3 Decreasing Function 4,28l dly pons fdlL)

s Yol O, Wiles I Ladbliae 055G ) DI

L A1) e 0509 8 Lo o DIV 0d S5 1) .3

0S5 =31 D1 Lol 5,8 b &l Dl aws DN O ]
.Constant Function &4l @1y Ll & e ila J s &l

£ AN 3 OF a1 8l o) NI ioin 46 JS& gy 49 JEho
Aalize ol sylp0 f b 05 ) ol gl sa> (R 058

Example 4.9: Given the graph of fix) shown in Figure 4-6, assuming the
domain of f is R, identify the intervals on which f is increasing or de-

creasing:

(2,3)

_42 2 4 6

4-6 JS
x=2 o el y O of DIl Lk I3 x ol Ll
Bz (00, 2) 5 a5 Luabline DI 045 o g .yl
(2, o0) °J“"”
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Even and Odd Functions dudpilly dargidl Jlgud!

g £(=x) = £(2) O G 13) gy Al gl £ DI Iy .1
Y Ll DIl Sl ey S NI Gl bl x 0
AN e OB —x o x Jdd Lodis y=f(x) doladl pics
3 open dgm Bilms 055 dryy)

a0 = f(0) Of o 5] dg23 Bls g} F O Uy 2
Y G 31 B 6 ey S DN GUs b il gl x o
Y=y Jdos o o —x QA’JS Jdowd Ladis y=1£(x) dolaall
o W il J g Nilaze 065 s, DN mein Ol

BT cad o s 3 ol elimgs s Jlgll oS 15) W su> 1410 Jbie

Logie
Example 4.10: Determine whether the following functions are even,
odd, or neither:

(@) fix)=Tx® (b) g(x) =4x+6 (¢) h(x)=6x-3x (d) F(x)z‘“ig

"
S0 =1®) Ol ey (0 =T =70 s f0) ,eel  (a)
gy Do £ OS5

O WS g(x)=d(-x) + 6 =—dx +6 1g(-x) el Jadly  (B)
b 800 g(®) oo WS Of Eumy —g(x) =—(4x + 6) =—4x — 6
DN OB slse b Ll —g00) eg(0) O WS i pluia
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A3 Gy drg) o £

o= o9 hx) =60 -3-x =6x 43 th(x) el Jaadly (9
33 By b §6Sy ch(-x)=—h(x) O

b 61 Gy Fex) =t =R sl Jlly (@)

5 Lol Fx) —F@) of WS . slze F(ox) = F@) o XS
53 a3 8 ) 0455 DN Oyt gl

My @Ayt A Pty GBy=7x) <8 1) oligkdl §
C’Ub.u.“dbyL)b Jaaadl paadyx J) ol

Cingi b 1S A 5 A1) i s s A= il 2411 e
Uolaodl adn oo a8 dorLuadl 3 D10 L)) Chos S0 7
0l gl d DYy r 3wy

Example 4.11: In the formula A = ntr2, the area A of a circle is written as
a function of the radius r. To write the radius as a function of the area,
solve this equation for r in terms of A, thus:

s A A
r=—, r:i\/j-
T n

S r oy 1= % ol Lo-yd_giaui Ag‘J,Lﬂ\MQi&,;—_g
A
Algebra of Functions Jlgdl >

oo 1308 asamin (3l Jlgdl) & o) Ole gosmall 3o ) ey
daaidly o pally ¢ s meadl Oldas iy Sy aili g of s

oz "Wl s



aait o daea

x o8 S Se gpe Al e gandl| (F9)0) =100 +2(0) | per

8 f o JS 3 idgrgall

X o JS o s Al s el | (F-0)@) =f00) - g(0) | b

8 f o JS S g gl

%o JS o g @il | ()0 =1(0)-g() | o

8 o pr JS S idgr gl

x o8 JS e gy A s ganall (f}) [ | s
£ o IS Gl ot | \E) Y

g(x) # 0 Cumm

(F+8)(x) drsld g =vx-2 (1) =2 <ol 13) 1412 JGs
Jaga S Glis (f1g)()s

Example 4.12: Given f(x) = x*> and g(x)=+vx-2, find (f+ g)(x) and
(f%)(x) and state the domains of the functions.

g 3y R g8 7l Of ey (fHR)0)=f(0)+g(x)=x" +x=2
AxeR|x22) Caf 3 gaamall Al Gl OB {xeR[x22} 4o

fw__ ¥
g(x) x-2

f+gdmeyd\JJ\o4AdLLau3$;J( ]( Jee e
AreR[x>2) oo 3l OF ol g =0 Of Loyl 4l aa

Sog(x) = f(g(x)) o LS I, a5 g of i) fog dd gl 1)
‘;.ﬂ\ggJLLSUJBJH}«Hxrgdfkwyﬁgdmidﬁg
S 3 B g(x) Jams
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Example 4.13: Given f(x) = x? and g(x)=+/x-35, find fog and state its
domain.

)

fog(x)= f(g(x)) = f(Vx=5)=(Vx=5) =x-5
(x e Rlx 25} g0 g 5L OF Lagy R JS o fog Ui 0403
Wl T/ Gl 8 bl v2 5 o 1 1 s garn g2 fog Gl
.{xeRleS}

.fag g lf&.«-’ 49)\.’.” 4-17 Jg_-“ c,,oy_g

One-to-One Functions Al gl
oo pais JS O B Lol Ll R Wl D ills 41 31a I,
il 31 DIy LR s gamall 5 juaie bl D s gaomell uolis
W @n\Sadl by il d s 13) &ol-1 065 R Wl D

D 3l b y=y OB R gdadl B f)=7(n) OB 15] .1

R g4adl 3 fu) = f(v) OB D Gl 42y O BB} .2

s e £ mosh g () =26 ()= ilS 15] :4.14 Yo
Aol @Al g ol

Example 4.14: Let f(x) = x* and g(x) = 2x. Show that f is not a one-to-
one function and that g is a one-to-one function.
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FOI 098 £3)=/(-3)=9 Of Wby .R ga £ DA Gl
sl

sdes sl kOf Lo s 3]s R sa g A1l ey 3 o JS 055
AIdg x=k2 ok J il s gl x 08 k=2x o >
R 1 g Ve

bty b DI G by e dad JSI OF com
pbis OF Say y=c BY sl 0L y =) Of uomy 5015 x
Losdl ok 13 1iSag . 2SN e Ty 0 ol Y1 DI pomie
bl Al towte ud sioetall O il oy ST 3 ioutall a8 Y)
Y Ll jLasly 1is Gy

Inverse Functions doSal! J gt
R 5y S0l e R blaey D il b1 01 £01 4,0
iy g 9= f(x) Of o D Gl 550>y x Lol gy
S g Obb g (1) =x Of Eou R Llkey D llss e g B1
isley /) LSl D1 g DI Loy f DILL B jnedl bl

S s b

Silane U1y Y LSl D11 sl Y
AT £ ol giss .1
(el 13)) y DY x 3wy = f(r) Dolaedl Jo dmsl 2

x=f10) JS8 G Dl o Juass iy

M, |-



| s U‘J“"‘-'J 289l 8 brgr gl dolaadl By gx Jus 3
y=f" (%) Ji.i'..‘\uéﬁé\.u

=2 Yl LS D) sl 1415 Y

Example 4.15: Find the inverse function for f(x)= %3
x

OF gy f) =£0) OF o 8l Lol 1 O Yol e

2 2
u+3 v+3

(u+3)(v+3)- : = : “«(u+3)(v+3)
u+3 v+3

20v+3)=2(u+3)
2v+6=2u+6
2v=2u

V=U

ol i o) =iy o ST e

Wx+3)=2
yx+3y=2
yx =2-13y

x:2—3

y
D= =223 Sle dgandl y 5 x by
y
y=x bl J e Wilaze y=17"00) p=f(x) Oloein 045 g
Transformations and Graphs — lexidly @ikigxdf
sova o S| on iosl Ll gl e S Oliomie Hlas! 5Say
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Sasdl a3l adg ¥ ot goadly 8T ol by dy goud s
Sl () alaSs¥l (led) DY as5Y o Ls
MBS TIPSl

48 1S b el ouall Wy g= 1) 11 Lyl OIS 13)
sl e ¥ o geed) ,.JL B a0 Say 413

Vertical Shifting dusal W1 G 1)Y
y=1(x) S oo ands 98 06K k>0 YN y=1(x)+ k AN gioeso

otk Jial () liadl = f) DI imwio s 92 O35 k>0
RUINCN]

4-8 S

Jlgadl o)) 4-8 S b e gl il Y1 DI 14,16 YU
A ISy (4-9 JSa) ollu-yl P b o y=f(0)+2 o= f(x)
JSs) wlilasyl Pl i e y=£()-25 y=f(@) Jlgd! o)

.(4-10

Example 4.16: For the basic function shown in Figure 4-8, graph y = f({x)
and y = f(x) + 2 on the same coordinate system (Figure 4-9) and y = f(x)
and y = f{x) - 2.5 on the same coordinate system (Figure 4-10).
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X

Y ” ) Yy
y y = f(x)+ \/
y f(xf\
i

= _1\ 1 2

4-10 S 49 S5

Vertical Stretching and Compression (walp ilaS¥1g Al
y =f0r) BN povin aus g8 a> 1 Ldisy=af(x) DI goeie §65
e y=af(n) BN gowias . yldieg y jgmadd iy Jlaid S0 g
il iaSS gy =1(x) DI poein dudi g8 0550 <a< ]

da Jl gy goeed)

3Y=f(®) gy} 48 JS& b Do sall Ll Y DIl 1417 Yo
AN juisd WISy (411 J$) il Yl ol ks 5 y=21(0)
JSs) ol i y=%f(x) UIdly o =10x) Il o
. (4-12

Example 4.17: For the basic function shown in Figure 4-8, graph y =f(x)
and y = 2f(x) on the same coordinate system (Figure 4-11); y =f(x) and y
= 1/3f(x) on the same coordinate system (Figure 4-12).

Yy

6 6)’
3 1 \'__1/2’lc ] 1 5
B . 3 < =1
4\ .
y=3f(x) y=fQ
-4 )

412 S5 4-11 JS&
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Horizontal Shifting duddd| a1yl
y=f(x) J1J! s dudi ga u\,i. h>0 & y=fx+h) u,:a..:.d\
p = =h) gouadl ISy (i gl o b jlies sleld sl S

rend) ) el Sy 7 =S0) DI pomin 4 g2 5> 0 Lois
RGN IRV IRV

gl iowio ) 48 JSa 3 omadogoll Ll V1 LI 2418 YU
ISy (4-13 JS2) olslasYl plls s Jo y=fx+2) =f()
5) olilasyl P s By =l =1) =) JIgl o)l

(4-14

Example 4.18: For the basic function shown in Figure 4-8, graph y = f(x)
and y = f(x + 2) on the same coordinate system (Figure 4-13); y=f(x) and
y = flx — 1) on the same coordinate system (Figure 4-14).

4-14 S5 4-13 S

Horizontal Stretching and Compression 8%/ jibeSi¥lg Wla¥l

= SOOI i dens gp 0> 1S3 y= flax) BNV gt 05K
NN ioein WIS g aa Jolall jldiay x ) gmeal) Ly j2aSS) S g
Sy y=1x) S S dd gp 0% 0<a<] ks y= flav)

N jlddas x ygmead) Ll Jlaz

s T



sl imto e 48 [ 5 ool Lull Y1 DIl 1409 JUhe
o)l LIS g (4-15) JSa ol plss ity y=/(20) o =f(x)
.(4-16 Ji..) old -yl rUas i y=1(x) y=1x) gl simia

Example 4.19: For the basic function shown in Figure 4-8, graph y = f{x)
and y = f(2x) on the same coordinate system (Figure 4-15); y=f(x) and y
= f{1/2x) on the same coordinate system (Figure 4-16).

6 6
y = fGx) 4 ¢ 4
Wi i ek

B -+ . - X
- - 2

Sl ¥l gpea ol Dol il

Reflection with Respect to a Coordinate Axis
Sl day =) DI g s g8 1= F0) DI poete 095
e dads g n 098G VT S(0) DI e ISy ax jgoee e
Y e e 4ulSal dny v =) JIA
F58) sl ol ks =) =11 W) psy) 1420 i
Sl Yl ol pudty y =A%) 9 =1(x) ] ) DSy (4-17

A8 ISl e gal) Ll Y1 DI Sy (4-18 JS2)

Example 4.20: For the basic function shown in Figure 4-8, graph y = f(x)
and y = — f(x) on the same coordinate system (Figure 4-17); y = f(x) and
y = fi-x) on the same coordinate system (Figure 4-18).
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ol Jaddl .
Al Lpsaly Ao Jlgtt
Algebraic Functions and

Their Graphs

' Jadd! I B
alaid! Jgl ¢/
ol o ydll Jigs v/
sl &S Jloutl
aguadl Ol S dawid V1
WSl gt v/
Linear Functions duladed! Jgadf

Sl b saely ot Dl (g1 a dasdd] D1

Ym=0cslS 3Ld .m#0 &> x> mx+b

b s £ =b ) awiy ddas Dy e
s 058, dehsd! DI Gsls il iomially
] Ugin s sl 0483 i) 101 i Lol . Ui
S Gymn y gomall 3l ¥ 1 tiaad] i) ) 005
plle) o Sad casdl e dadly b (x, ;) <0, 0) OF ojds 1k
BN Lzl Ll
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Yo=Y Y & e N twﬂ“ [@]

m= ' Run

x,,——x]_ X § pdl oL 2l

-

thidly e A bebsl) el ax sl 50 Je
Example 5.1: Find the slope of the lines through
(@) (5,3) and (8,12) (b) (3, —4) and (-5,6)
OB (8,12) =(xp3,) 5 (5.3) = (v, 1) g2y (@)

e 12—3=3
H=% 4=3

OB (=5,6) = (xp, 1) 3 (3s~4) =(x, ) ¢~5’_9-2 (b)
. Ja =¥ _6-(-4) 5

m

XQ"'xl "5_3 - 4

Horizontal and Vertical Lines I\*wi W19 '@‘ﬂ bglazl|

Of e il gl dla (v ygoma) 55190d) Lasdl) 891 L]
Ll Dslany .y Ol Y1 i legd 086 L3l e ki s
V=kiygall g Yl
OY 3uws o I ud (7 gomal) (glgadl Jasdl) ol 1 s
Lsdl Dolaeg x SN ki begd L) e Ol phi g
ARyl B gl
Hganl g9 JISET 5ny weiall L) Bolan 5 el Sass
S pitenall Ll Dlas 065 1 ghiall 5 pndly fuadl o 1
YEmEtb I ay jpadl o b sl ahiyy m ales
o S il sl Uslan s ik Joall B .2
Y =Yo= mx—xp) 1N m ooy (g yp) i\,

5350l o biall 1) Bslas DS Sy ol 5y90al] 3
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J“"ﬁ" LG—M-' U._J YRS b\.\.oi C B 4 & Ax+By=C
‘J""“’“ LSJL“-.’. ¥ LadS B A ASJ_,,_...,a

alioy (-6,4) daidy oy sl piian) Jasd| Dslan Ll 152 Jiho

w23

Example 5.2: Find the equation of the line passing through (-6,4) with
slope 2/3.

y=4=2[r=(6)] 100 daidly Joall Dolas 1) gus plisusl

.y=%x+8 :&JL.EAH ¢ 2l J-:A” 8y 40 u-l-‘ ks O‘i“w
2x-3y=-24 1 Lasd] Dslaad il 5 guad| 05553

Parallel and Perpendicular Lines  Sualaidly do)lgid! loglael!

o Sy Jeodl 3 Olgluy aglh el b Ol (g5 13)
Ll 1 B glally lne 0L S gl b Joo (9l 13)
g Lyl 0gSs

L3l Uslgns (3,-8) dhiadly jay sl Lasedl Dslas sl 253 Jia
Sx+2p=17

Example 5.3: Find the equation of a line through (3, —8) parallel to 5x +
2y=1.

Wlsy y==2x+ y iaall Uy b oo s Jou Vsl ]
sl sl b 05 g1 Bl o 040 =3 Ll s 0550
Ao dhiiy el 500 plisinlyy (3,-8) dhidly jay g —% Ll
Ll 5yl 5 LS ey Aly y-(8)=-26:-3) Of

Sx+2y=-1
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Ly 08 e 508 Lo 6] OB bl Lo Sn 065, Lais
O my ) oghn Gl i s 5T dalas By e Sl
.m2=;—} gi mm, ==1 &Nl i Lagles

e ©ogess 3,-8) daidly ey U1 Ll Dolas sl :5.4 JGa
Sx+2y=7 L3l

Example 5.4: Find the equation of a line through (3, —8) perpendicular
toSx+2y=17.

=2 $oly O o 4] HLaadl Ll Joo old) QL) Lo
sl ((3,-8) il oy 2 alos oglaadl lasdl 058y el
Y= 8)=3=3) Of s aaiiy Juall 5300

2x -5y =46 Luldll )9l 8 LeolS Say Sy

Quadratic Functions Al Ayl Jig8
LS Say, (B 5l s D1y (gf oo dgll iy e D1
a’+bxtciyp—aly a0 G x> a’ Hhx+ if 14l g_l.o
Loyl e Jlsad el of () = 302 - 20+ 15 f() =4 155 JLha
o S Jlgdd il 8 1) = 6 5 () =3x+5 Ll LW

AL IRESIY

Example 5.5: f (x) = x, and f (x) = 3x2 - 2x + 15 are examples of qua-
dratic functions. f(x) =3x+ 5 and f (x) = x* are examples of nonquadrat-
ic functions.

f() s—einy ) =2 DI o LI iyl e Ll Y D101
32 JLasdl jymmns (00) Joo¥l ks wis auy LilSo Uk 055,
(51 JSdl) y goal]
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5-1 JS&

f@=aw-hP+k by 5adl 3 sl iyl po Dls 6T HLS Sy
Sy, W) B pll pn s 6T Ol g el JWaST| 5o b e
U1 ioia) Loy OV gt s Ll 5ol Gl e
32 A Lyl a5 6l giomin 054 o5 y09 f10) =5 gl Y]
S ol
LeS () = 26~ 12x+4 &5l oy )l D1y LLS ale) Say 156 JUa

: b

Example 5.6: The quadratic function f (x) = 2x2 — 12x + 4 can be rewrit-
ten as follows:

f(.r)=2x2-l2x+4
=2(x* -6x)+4
=2(x* -6x+9)-9-2+4
=2(x-3)*-14
ki gh 0959 90 @ Cu f(X) = a(x— )’ +k DI ooeiay
a ey edb] o f(x) =5 L o pdl o Lol Y1 DIAT it
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o Sl I Gleg (0<a<) Va Jolaadl WinSto o1 a>1 o
A e 00) i) OF o il J) ol e J) 5l pond
Wlaze O /) =a(e-hY +k DI gowiny . dydodl goviald (1, B)
oY psie (Lo a6l By gomiadly x=h Lasll Loy
x=h bas b el g ae Hlg I 045
0655 fO) =ale— P+ k DU poie OB Wl a <8 13) Lol
b o fx)= 6 LW iy l] g0 Gyl LI iein 4 o
cilS 13) ]%[ Jolaay CnaSiay (lal > 1 <o 13)) lal ludes

Jil ) ol (el JI cpadl ylud) JI Glay (0<lal <1
ony Ly dod) el (h, b o) s (00) i O Eume
tli;j_bj x=h L) Ll Wl Qj_i._v.f(x)=a(x—h)2+k PR
w=h bodie k abe dod DI O5Ss JiuY & gudo ¢ 310

=23 oSas gl JShy f(0) =2 +dx =7 DIA) el 157 Jla
iygnall b 1)

Example 5.7: Consider the function f (x) = x> + 4x — 7. By completing
the square, this can be written as

fO)=x+4x+4-4-T=(x+2>2-11.

S S ) DI omin ads gp DI cmin 3509
52 S5 il g 11 ey Jiud s o gy 5l

Lo L U1y oY B gaio (2,-11) aul)y (S ol gieied!
x=-2 065 bdis -1 g p0
DI LS o Say ol JWSL /)= 6x -5 DIN e 158 Je
AV e 069 fx) =X +6x=~(x" - 6x +9) +9=—~(x-3)"+9
Olasg 3 ) I o (g f(x) =" DI} poeio a9

o (Bl =



10

52 JS
53 JS... u.e —a u.;:dglb Wld>9 9 u.l&i JLQ

Example 5.8: Consider the function f (x) = 6x — x2. By completing the
square, this can be written as f (x) =x?> + 6x =-(x> = 6x + 9) + 9 = —(x—
3)2+9. Thus the graph of the function is the same as the graph of f (x) =
—x* shifted right 3 units and up 9 units. The graph is shown in Figure 5-3.

12

E

5-3
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9 sobie a3 DI JiuY 7 guing (39) auly (30 ol giouiall

Xx=3 ujia Lels

Polynomial Functions 3 gl 5{5’5 JIgudf
S5 Of oSy A sae Wl s Bl (5T a 39101 5,58 DI
N9y a,#0 G fix—ax"+a, X" +tax+a; Jo g
R §550 294l b8 DIl Uiy L ogdsedl 5,08 D >y o
A3 6% Sy o L

Lol J1ga01 Jto ol spusdl Ol S Jlgs ety Jig
i) oy 1 Jlgss (7(x) = apx + a) ddasdl Jlgadl (F(x) = )
(f(¥) = ax’* + ax + ay)

0, 145 b il sols & elaell JS cilSyn a Firys c3lS 13)
0, Db U e O a=0a,20 Cumef(r)=ar’ Of oy
U35 Guomns Iake 1 ilS 13] Lol L3 nomas Iode 1 il 13]
ey DN O ¢S

Example 5.9: Draw graphs of: Il liseia - ) 5.9 JGa
(@) f0)=x, () f@) =2, () f&)=x", (&) f(x) =x°
57 JSa (d) (56 JSa (0) 55 IS (b) 154 S ()

Division of Polynomials dguoedl Gl yS doued
Iy 615 f(x) 3351 5,058 Jolge dol g(x) 390l 6,058 slS™ 13)]
o) Ji -1 O A3 ey g() e dendll L () O
LB e sgdadl 5,88 ol By’ txt 1 gx-1 0 J§ Jo
s Y @ ghodl danall iy b ol o Say alh 51 o dail

Skl LS 3UL dendl il
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Y ¥
7 7
5 5
3 3
1 1
X
. i
<1 -1
<} -3
-g =
-5 -7
5-5 J& 54 JS&
y
7 y
7
5
| 5
3
3
1
X
3 1 E
=%
-1
-1
-3
-3
57 JS 5-6 S5
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Sy L) ) dsl 15,10 S

Example 5.10: Find the quotient and remainder for

sy |
X2+ 2x -1

ks 2 gudal| o ds¥l Ll P \’M‘ o Ja¥l Ll ]
P 22 i ade ppidl Oyl

Aol Ol gls S5 I dodl ds

TP Ar §ade s guidldl 00

Aol Olghas 5,5 I asdl s

Al 9 P oade pguiall 0,0

e pgeial] o 23 3T 006 U1 5 2

2x2 -

L]
—

~N SN B W N

4x + 9

2+%-1 | 2 + 03 - 22+
-2+ 4P - W)
- 4P+ X

Ox - 2 (1)

(2)
Ox (3)
4x) 4)

9x?

—(9x?

x - 2 (5
8 - 9)  (6)

+
—(-4x* - 8x* +
+

2+ 1 (7)

22047 JUl s 52l 0680 et 27— dx + 9 dawd) )5 0550

2xt = x -2
2% o o gy

o

~22x+7

4 D] x“+2x-1

LS s g aild g(x) 20 Co 9d> 5,08 g(x) of() <ol§ 13)
Coon 7(x) qx) OUd=3 394>

f(x)

r(x)

f(x)=g(x)g(x)+r(x) and —==g(x)+—

g(x)

- 90 —
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0655 1) drys 5l (g0 o daadl) L6 OS5 f) (1) =0 Lal
g() iy oy il

Synthetic Division duaS 11 Al
O8S5 x— ¢ Bygme b 334> 5,08 Jo fx) d9dad) 5,8 dand O
o gmaiad) & MNolno 5y S A1 o)) Dy b plasialy 5 UG dols

Bgio &N o Bginand Jy¥l Ciddl § W5l L ()

cla, &, =: & @

BBl o o ) Jo ! Jalaad) S, W1 Caddl O 9
SLI Gl 8 Lol iy 0 b U il g Jalas S
3 ) iy Js W Gl 36 bl o dalasl] o Lmazniy

O E2 [ SN B B 1 IS CON

¢ I an au—l al a()
Cau Cbl Cbr! -2 Cbn —1
an b! bn-—l F

S Lol inedl cold) ga W1 il b Y1 Jolaed! 05505
L Ly 4,0 aedl] )l O Molen g (5, Y1 Mol

Sy dadll )1 3l Y G 1 el pasead (511 Jlle
OMalaad) o g ve=4 055 Bl odn § . @ldl Jdl
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1Ly &) O ginall daglaa O Ja¥l il i X -52+Tx-9
lgrary U1 il b iomgad] ppig 4 B 0l 3 ol Jolos Jsf
Jolaadl e 5l paza¥ly W Ciaall  dmgtd) mgy =5 e

ujL.AJ\u.of:-m

Example 5.11: Use synthetic division to find the quotient and remainder
in the previous example. In this case, ¢ = 4. Arrange the coefficients of x*
—5x+7x~-9 in the first row of a three-row array; proceed to bring down
the first coefficient, I, then multiply by 4, place result in second row, add
to -5, place result in third row. Continue to the last coefficient of the ar-
ray.

411 -5 7 -9

4 -4 12
I -l 3 3

Of dows s 3 coldl g 3Ug 2~ x+3 ol e 0453

x}—-5x3+7x—9 o)
=x"-x+3+
x-4 x—-4

Theorems about Zeros 20! pe Qb

Sx) 39d5d1 5,58 o A ¢ OB f(e)=0 wslS 13

e ¢ olS 15) Jadsy 13 x—c Jalal () 39l 5,080 05, 1
39| § S

i 7 colS'y i P(x) S9dodl ]S & Nalno 1S 3] .2
93 a1 Uil 98 0680 7 S 00l 8l a0l OB P() J LS 0
39l Ol i3 S W) edsdl OF sl P(r) 39l 5,8
Ll 480l ol al s 0585 > 5 Malno L 3

> O Nalae lg_l u.Jb >0 doy Al e 59ds b, <Y 3
Jol gl plasely Nl Yl 355 3,28 Sl ey il
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S s I Jolaad 8 oy e L1 iy ) ol gy kasel
Saal e 0S5 OF (529,00t od 618 SIS ey L3550
B3dses & 3,k plsal, 3945 § S Judoed ] sloxy |

33> e,-uf P)=ax"+a, _x""'+. . +ax+a, os\§ 15 .4
e 7= plg Sy domgoens 19lae] 394501 5,05 & Vualno
0355 OF Y P OB Ll sl b Px) 33! 5,880 L
st I Caltl) Jale g 0558 @y coldl olgs o als

&Nelaall U,Jb s J3 0I5 30kl 5,8 domyl 2502 Y
Jd-3i 2 J‘Q..br.”j M‘

Example 5.12: Find a polynomial of least degree with real coefficients
and zeros 2 and | - 3i.

x—c LS 3] 39dmdl 5,88 yada ol e 08 Juloud) 4 b5 o0
& Malaadl @l sgamsdl ool gdosd! iyl ey . ol gl d |
5T D 0985 1430 05 Wypdr dor 123 clS 13) iginiod|
Bygall 3 2gdodl 8,8 HUS Sy g

P(x) = a(x = 2)[(x— (1 = 30)][(x - (1 + 30)]
P Lol g

P(x) = a(x-2)[(x-1)+3i][(x=1)-3i]
=a(x-2)[(x-1)* - (3i)’]
= a(x—~2)(x2 - 2x+10)
= a(x’ - 4x% +14x - 20)

350+ 55— 8 sydod| Ol i) ] gl sl 1513 JGhe

Example 5.13: List the possible rational zeros of 3x2 + 5x — 8.
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*

w | &

% 3

w | o
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Theorems Used in Locating Zeros 9! dadaxdd QL ylad

@ < beslS g a9d 5,88 flx) <ol 15) tdaw guall dedll &k L1
RTINS S R S J ixbx 0B fla) #f(b) slS 13)
(@, 0) 5 24l

ializen () of (@) Olyla] ColS 15] ) 39dodl 6,680 tisecs .2

b a oy pdy FY e syl L 066 f) O

G 394> 5,35 f(x) oS 1] ol e o, Ky susls

Lo gall Ldiod| ol 3 O W5l U 5,0 Wangu

Sl s de o OhLY! s saad Ualas W) 0485 fx)J

soddl sde bl L 3 B sl Ha e BT o f) 1l

50 L) s ety odloms | o Sad f(x) DIl LILI) Lo

T ) sl 5,8 s

£ DIl S dadl) o I Cinall 39 cilS 3] 4
ol 055 dio 7 O 7700 and L ge LIS X7 e
15) Lol or o ST spdr g ¥l (6T of) ppdad LY
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Ala sl g yimr il OF jlasl (Say) o7 oy
(& b)) oda

Al AL Of yladt

 P(x) y9da 41 04S¢ L1

P(x) =0 D slaald ’>k> 9SG ¢

() Jalgs d| x-c 3

[ LE X g clm y=P(x) 1 oo .4

o

el ge o Moy | Sy s> 29l B8 Al Y*‘"«‘J
Aehalge J] 90l bS P> L1
Jolgdl Olla] e sgdsdl 6,08 byLa) Ol i sa>
1 ygall g 9ol 8,88 2l S
(ol Ui s (et ) S
3 9dod 5,380 wh‘}!\ dga)| u.bda.” p-“J‘
»=2x( - 3)(x +2) DI jiomio gl 1514 Jée

Example 5.14: Sketch a graph of y = 2x(x - 3)(x + 2).
ive 9ol (8 Ll Jlamials g (Jolos 5y B Jadlly & gSa y9dod| 5,48
.5-8 JS.:L & el Ol )laYl day 5 3o ¥ L541.,.\\ Jadl! >

T U O

.\’ a)L.Z} - - + +
X""‘BSJIL:}l - _ —_ +
x+25)) - + v 58 N
i 5yll] - + = +
L L | L1
i | T




¥ gomall Jil 0593 0 2 dis x joes DI imeio ahaiyg
Slpdl B x jeadl el 066 WS (0,3) 5 (-0, -2) &l ) b
=oall pung o ge b WS il Jgdr o Sg (-2,0) 5 3, )

(5-9) JS) Bl Ll

x| 3|1-2|-1]0| 1| 2(3]| 4

‘Iyll-36| o| 8|0|-12]-16|0]48

20,
15
10
5
X
2 =1 1 2
-5
s
-15
59 S
Rational Functions PERVRS I [PV
, =2H . R S .
s o f(X)= 00%) sy Wadyds )Sey @y 6| 2 4,831 DA

32 095 @, 1) Bl Lsgu> LS 0Ll O() «P()

y9al) OF B3| b Jo iy . 000 %0 Lo o) 31 Y s gacen

o .. R 69
S jxin Jolge dorg Yy DI 5y g ol o S0 DAL ﬁ)

0(x) P(x) Cyu

Example 5.15: :5.15 JG
B _ (x4D(x-4) _ X
f(x)"“ x ) g(-x)— x2 _9’ h(x) X(X"'Z)(X‘f':'}), and k(x) x2 +4
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Bl doladl jga J) plasnalyy
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ol il Myl
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J a X Pk Lo s ILsz_f(x)
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9y

5-11 JSé

y . a 'y X Ol (PR lean(x) = oo
| fx) O meadl

‘ Lljig Lo g 05

| 9d> L

-—00

y | a X ura.u Lodis xli_)nl*f(x)
: —= | £(2) Ol e 0

i

|

L5y e 9555
d9d L
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x 3355 Ladss NN imiad 8l o)l las 065 7= Lasdl
@ daddll e fx) O i L o i 90 SO £l gu 39d> i
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lim f(x) = a

X —) oo

5-15 S5

lim f(x) = a

X =} o0

fx) Ob—3 394
@ dadl a0 O gl
JW<a | <l ]

BpeeaSJ) X r_.d
&l

lim f(x) = a

X = —o0

517 JS

f) 03 90—
@ dadll o O gl
f)>a | <l ]

(JPRDLS] b Y
[l

Iim f(x) =a
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00 o s Y1 Ly e ] b ghasd! oY

P(x) ax"+-+ax+a
0(x) b, x" +=+bx+b,

flx)=

ol QJUL'J bn#0 98 a,#20 S
towiad Uil Uoylis Ui 004, x ygomadl Ol ncm ilS 1) .1

f 1)
teial 6‘9'}” so\ldl Ladl ga % Ll O n=m <38 1) .2
f A1)

A0 g}!.b,_g fuo.:iuA.‘ u.nsi dﬂ,l.m Ls A g N d.JL.é n>m bls .3
f(2) = =00 1 f(x) o0 La| Glf x5 -0 Lakisg x 00 Ladis

DIl O 13) 80s8 Y1 do,ylid) bohsd) axgl 15,16 e

Example 5.16: Find the horizontal asymptotes, if any, for

Flx) = 2X +S]

SIS Sy 6l 1 iyl e pliadly Lol e NSO o
| Bygaall 3

1

24—

f(x):2x+1+x—5: 5)[
X X

Ol oo Vg OS5 f0) O Ll o e gall 3,081 x 0l
0955 y=2 Lsdl f(x) o2 o L;\ VN | D V1PN O 4......J\
Ul Gl s

00 yo b Jle Ui L sl ¥

P(x) ax" +- +a;x+a
O(x) b x"+-+bx+b,

f(x)=
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) g pmnd) 4 Sag n=mt1 Lakie &8 by #0 a,20 Co
1Sl o @ glaoll dadl] oy

] R(x)

f(x)=ax+b+—-

Q(x)

slro o Lake — 09 O) &3 (0 B3 065 R() s
Flo i b eay=av+b Ll 04 fix) > ax+b OB x> o

RURVIGSESIN
DN gouied Pl oylid] sl sl 1517 Jia

Example 5.17: Find the oblique asymptote for the graph of the function

x+l
1= ¥ x=2
3
Lodisd o pag f(0)= X =14 = 2 S ghall daudll p sl

Ua.é-y=x—l.k_$d\03_§,_9f(x)——>x -1 0B x> - 3‘x-—>oo

A e Bl Gyl
{y= f(x)—f &y oS30 DIl G e Lol

iz gdodl] souall x goa 0 de ghie PL’,::-‘ sl del L
ot g el 5l d sl LN Ll sl [ PG)
il vy [F DI 3 3 pdy 0 OF o, f0)] ) gomall
s 5l Jgleal) il Jilas sl sl Y D1 P (0, £(0))
WY

Loy bybs p—oly O() DAl Lii> 9o sl gl 2

Ngonyly giouield dslo o il 2oyl bghs i drgl 3
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ol LB Y L)l bl akiiy —iowiad) O 13 Lo 3
J_s y=ax+b y=1(x) Ol Cbl_m gy A5
S =ax+b Bl Liidisd| J ol

0355 A ol sae oYl Jgder oo Gyg 0 1)
0,5 D1 Sy g 3dmy il i go D11 L
)W) b glasel|

.5 iyl 3 53 gall ghliadl JS 3 £ I gmta o)l

.6

Y omio wsl 1518 Yl

Example 5.18: Sketch the graph of the function

x+3

f(A)—x >

2 0y sgall o g shiadl 132l 0B £0)=2 O Ly
BT R VIR &M\ ;,:J\ u',i.a x=-3 bals fx)=0 u\ a9
Jwﬂ\«kbﬁd”x«ﬂ il )Hmu.au.«uu...l_g 3 gpx
,LaJ\ Ll 068 Jasdl 1ds 06 x=2 bois x-2=0 0f Ly

* ) el I

& Valeall i Lilly 1 pliadly ol o JS iy OF o
B ol Ll ga 05 y=1 Lsdl 0 T 0885 il Yl
Lsdl iy ¥ omiadl 01 Yyl ) el =1 0F Ly
Y el

il b Ler go 0955 LI 0 OF eyl Jgdr i
O o s +(-3,2) 5,0 J WL OS5y (2, ) o=, -3)
5-18 JSa kil im fG)=e0 o lm f ()=
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Exponentlal and Logarlthmlc
Functlons

L Jadd! fda
watl Joutt v/
all Jlodlt o Oliadad V/
y AT 74
A il JHgldl ol sl V/
yRIRFIUPR T (T TP 74
Wb Jis V/

Exponential Functions dus) J1guld!

D1y Y Jiraad) el Wb 065 Dl 6T a4 Y1 D101
I Gy a#l @>0 ¢ F=a" JSaI RER I [ B W

b S o) e iiod! Slas Y1 S s garea yuany e Y1 il Y
ROIR

Y1 gl dlal ZIWI1 gl 261 JGke

Example 6.1: The following are examples of exponential functions:
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(@) f(x)=2" (b) f(x)=(-;-) (©) f@)=4" (@ f)=2"

a2 gl 8 picall e oy oY) ol g 48 ol o Say
i)y, x S 0B a,b>0 ¥] 2
a'a’ =a™ (ab) =a'D”

X X X
g (2]
a’ b b

X
(CIP) . an

"Ry S D ¥] o5ary N el WLV e suall e
2.71828... L il diad r....ai s e O LS. lim(1+—1-)"

n

n—o0

) gl e Gl

Applications of Exponential Functions
sy o plaSVly oY gl Dole by Oliad G5
e ) LS Doy o) 50 el D5 055 i Y) Ll Y g
i lia L] @13 045
P pteall ghall ool OIS 15) .Compound Interest S ytf uilal
Ol adl e n 4S8 0 5089 o & g 5150 Jdway jaieg g Ulg HYs0
ygnall b OS5 18l L Dsll A 25801 £aS O dd) B

At) = P(l +—r-]

n
OLS 13 .Continuous Compound Interest 3 piuemitd] At pdf Sl
LS 0 528U 055y or Gyl Janedly P jezaadl JWI uly Joo
iy gl 0085 15,6 W 5 2l b -l AQ) 5431 5o Ol § jecns
A(t) = Pe" |
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34 OIS 13} Unlimited Population Growth Jguadl pé (lSull goddl

pSad 9d iy gan S Slaazmall a1 3Ny g8 ol 5l 3YI

L Wl et ey N(Y) M\ r:ov.‘ L) 5y guall ¢ Lae)
N(1) = N,e"'

cdlsien plad plasuid (Say Sy (o OF oy il £ )

sds O 15| | Logistic Population Growth (s sld! (o (Sud! el

iy 9o 0905 Lo o Say S Slanzzmall U1 3 Ny o &)y 51 3YI

N(t) Ol ads 0588 3131 cpa P (5] 903l )5 cnans) B3 9ds

ygeall bt Y dtej i gl 3
N,P

N =
0 Ny +(P-Ny)e™

(35 OF oy ol k eo)

.Radioactive Decay laliddl daslad| ool iyl 3 8 ALY ol

(=0 8olodl da ) 5 x5 0 O6SG dnsadl B30l deS ilSalY]

ol s OF (S @ iy 558 T (5 00 plal a8 0B
(1) = Qe

bsten ol ozl Sy Yoty (s Of com £ Ea0)

Logarithmic Functions At y L5 g1 1 gl

095 a>0 a1 of(x) = log,x dweyyls U1 IS
Sy F) = dw Y DIl LSt SIS p

of — liag .x = ¢ OLd y = logr cilS 13

] ) gl u»«m ra u..L.«SU x ‘.:..ULéajl
ol x=4" il |31 u.&.dl.g_g % a\:u}l ad e-"
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L 31 gty iayy e gl Jlgadl o BN o a9 .y = log,x
b WS iy OF 5Say

X log, X
log,a*=x and a*"=x

3] fy=log,x Wl e b OF -Say f0) = log, x BI) 162 JLia
O com 1 oY1 g 0685 4 015 2016 OF Wby .27 =x oS
dog, 16=4 0309 16 o J gl 2 4 b5

Example 6.2: The function f (x) = log, x is defined as f: y = log, x if 2 =
x. Since 2% = 16, 4 is the exponent to which 2 must be raised to obtain 16,
and log, 16 =4.

o)L 1 plasealy 10°=1000 5Ll LS a3le | (Say 163 JUia
1000 o foamedd 3 o I 85 OF Gy 10 O g 10 ol
log ;1000 =3 O

Example 6.3: The statement 103 = 1000 can be rewritten in terms of the
logarithm to the base 10. Since 3 is the exponent to which 10 must be
raised to obtain 1000, log,, 1000 = 3.

Example 6.4:  logs125=logs5° =3. 5% =25 '6.4 JUA
(i g0 L sluel N, M Eg) 10la )l gl ol
log,1=0 log,a=1

log,(MN)=1log, M +log, N log,(M")=plog, M
logu(—%—j =log, M-log, N

Example,6.5: 165 JEa
@logg1=0 (1=5°01 ) , (B)log, 1=0 (4=4'01 )
(c) log, 6x=1log, 6+ loh , x=1+logx , (d)log,x°=6logx
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1
(e) logy(2x) =logy), '];—2 = logy, x - 1081/2(5] =logy, x-1-
Ao B Lagllasl Lags Ol byl f QUL o ¢
Jogx paaiseiy r\.a.H (.:;._ULL)J.H e s S logx L1
dnx ey kbl r..dJLc'}U‘J e log,x .2
1 1 ; . .
D= SIn-D+InC dly sl g) S 166 JG

Example 6.6: Write %ln(x +1)- %In(x'— 1)+InC as one logarithm.

%ln(xﬂ)--;—ln(x-—l)+lnC=é—[ln(x+1)—1n(.r_—l)]+ln€

= %ln(x—ﬂj +InC

x-1

=1n /ﬁ—lnnc
x—1

1
=lnC ks

x—1

i | J1gul] (o Glda
Applications of Logarithmic Functions

Jn i iy st 3 ol 1 olas Y1 e Jalad] jiny
5-Sg T il g0Y) o 10,000,000,000 ) 0.000000000001

Jon e LS ST gl Jolass O ey gl plaseaaly o Say
o el oLl Gl gl o Jliadl U3 J2e) 18,9 0ln
(+10 J) -12

iazy, ) Ll Qs

o\ 84>y ¢» The Decibel Scale oy uJ) *Sound Intensity wpall Bl
b WS Gy gl 5
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D=1010g-[-—

Iy
iy e 3-‘ B9 ,"S I J> g5 -Earthquake intensity Jid M Bkl
PP sl 5y LB paiisy s ol gt Tl
roh WS iy wlide U ya g

1‘?=i2-log£
3 Ey

oA 5 edial| Ll E J_.«u :(J.ou._)) J‘JJJM b)dls R o S
i U133 o 5ymmdial) BN By 085 (U gl amei) U115
S 1
A gl A Ll

Exponential and Logarithmic Equations
o 3l e 5 sy Al odladl A OO PN
cipl g Il a ke iy d W) Dlaall el 55ksd g
e el 51 10 Wl W1 06 bobale gylas| Y Dslaall i b

Example 6.7: Solve ¥ =2 dslaadl J> > 3l 167 JEe

e'=2 o | le g s

x=In2 & InE)=In2 I jusSas &N Gudunyy

Pl e R R PP JOP NI G S| | JE NP
OsLaadl Jo 5 ol 5 ghasly it (g 5lkin 0 yli o)
= ey Bl 8,Ladl BUS Bale ] b dale ddaay 045 iy Lo 5]
rad Sy 68 gaa)le g e o ST Gy 13)y .l 55500
oz U1 ol phaseinly dly wiyligh 3 Gaa
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Jog, (r=3)=4 1sbeall J> sl 168 Jiho

Example 6.8: Solve log,(x - 3) =4
log, (x=3)=4 4wl §)guall & sl aslely
x=19 & x=2'+3 & 2'=x-3 .l ey
ST ol Y Lyl Ul Ol el LS Bale ] (Sauy
ol i el plasenly

dorgly log, 10 jliall e ul w1 axp)le ) Dy drsl 169 JEa
el de i dad

Example 6.9: Find an expression, in terms of logarithms to base e, for
log 10, and give an approximate value for the quantity.

In10 T £ - " -
.log510-—lg=l.43 QL‘! u.an\J‘ e sdeld r‘.lbu.w‘.i

Solved Problems Alglxe Jiluw

S 55LD Jdmay P 39l 0 diwms £iaS aiiis 16,1 dglons Wiias
ielaa) Ul 1 (80 L o 3Y) olgdl se oo b 45%
%y gy &S a0l 51 OF a1 8l calall Ida

Solved Problem 6.1: A certain amount of money P is invested at an an-
nual rate of interest of 4.5%. How many years (to the nearest tenth of a
year) would it take for the amount of money to double, assuming interest
is compounded quarterly?

LS )l 525U Bhgeo pdsens 4l 8y o S0 581 OF

nt
n
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Of dow A(H)=2P Wi 1 3l Y

4t
2= 14205)

2=(1.01125)"

e glad g bl o )leg) G 1 e Jgaamlly

In2 =In(1.01125)"
In2=4¢tIn(1.011295)
In2

41n(1.01125)
t=155 4w

(e o3y 0 3Y) gl sse Lo Ll Jlaadl 3 162 Wglona Wlws
% ot £S5 )l 528U O o1 8L 3 6] LS disLiaa)
Solved Problem 6.2: In the previous example, how many years (to the

nearest tenth of a year) would it take for the amount of money to double,
assuming interest is compounded continuously?

AW)=2P Lkis 1 slow r=0.045 Eu A(f)=Pe" &M (’""'"""‘"-

2P — PeO.OclS!
2 = 60.0451

e ol o Bl )l 3G 7 dad slw Y
In2 = Ine"%%

In2 =0.045¢
In2

[ =
0.045
t=154 duw
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B o oy I35 uy Sulde e 13l (@) 163 Wglne Wl
olia 5.0 ks JIH5 e 8 el BUN a5 (8) . 1000Ey s
Jor E=10" L oladl o i

Solved Problem 6.3: (@) Find the Richter scale magnitude of an earth-
quake that releases energy of 1000E,,. (b) Find energy released by an
earthquake that measures 5.0 on the Richter scale, given that E, = 10440
joules.

2. E
Ol E =1000E, Eus R=§log-,-5— BN plisenl, ()
0

2 1000E, 2 )
R==log—2="]ogl000==.3=2
3 8 g 308 3

0

e . 2 A B o
O dog E sl g c5-'3—108E—0 O R=5 Lo,4 (b)

E=E,-10"
~ 104401079
210“'9
=7.94x10" J s>
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adlil! ¢oadtl v/
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g ) elail ¥/

Loci diaidigl! St

u_.a.qul EEON ) RPN WY P Y il wlth
by il cow dhid (Zﬁ.,,.ug]l Jea]! :@,,Jl)

ww*

o] 3! Place SIS Walins w'ﬂ ub’ Locus um.b.gjl JMJ\

.Position

) 32 056 Lrgo Wlila| i gl Jouall 17,1 ke
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Example 7.1: The locus of a point with positive coordinates is the first
quadrant (x>0, y > 0).

=23 ey o ¥ il e dad bid digd] Joeall 172 Jike
3 LAJLB iy (0,0) Ua)'sja u.'J\_g 2+y'=9 BJJ‘.U\

Example 7.2: The locus of points with distance 3 from the origin is the
circle x? + y? = 9 with center at (0, 0) and radius 3.

kil Jlomall 3oy | 3 Bluadl Dhgs piuid Lo sy
XA aai Py, 15) 3 P, 3) e e Bled) L1

d(ﬂaPz):\/(xz ‘x:)2+(-"2 "3"!)2

Ax+By+ C=0 (it uall Ll S Py, p) dbid] e Bledl .2

4o |Ax, + By, +(|

VA® + B?

Laday 9l ity P(r,y) Jaisl) peudig)] Jomd) dr sl 7.3 S
P3,0) daid\y P (1,0) i) o

Example 7.3: Find the locus of points P(x,y) equidistant from P (1,0)
and P,(3,0).

OB dPP) = dPP) s,

\/(x— l)2 +(y—0)2 -—-\/(Jc—f'i)2 -l—(y--())2
sl Lapnns g

(x=1)" +(y—~0)2 =(x-3)° +(jv—0)2
x2—21r+l+y2 = x* —6x+9+y2
4x=8
=72
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Parabolas
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sl RPN

(= k)’ =~4p(y - ) (x— h)' = 4p(y — k)
(h, k) 2l ) (hy k) 2l M

F(hk-p) %3l Fhk+p) %35!

y=k+p 1l y=k-p :JJul

Ll Ladss Jsas 7 - 8+ 2 +9=0 idolaall OF cdl 174 Jla
sl psly sgmeally ol Jlg Sl 8501 dmgly

Example 7.4: Show that y* - 8x + 2y + 9 = 0 is the equation of a parabo-

la. Find the focus, directrix, vertex, and axis, and sketch a graph.

ks oy J el JS,

2+ 2y=8x-9

y2+2y+1=8x-8
(y+1)2=8(x-1)

o (LSl kil 05 Idyg k=-1 h=1 p=2 0 JUly

7-5 S
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110, avA
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b, 0) 0 >
{O‘ _b)
0(0' <)
FI @}JI
7-7 S
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7-8 S

A8 +97 =36 DI giomio wyly Jom 175 Ja
Example 7.5: Analyze and sketch the graph of 4x* + 9y? = 36.
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2 2 2 2
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a a
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Lok LS Sand) SIS 055y by pee alid 055
B=0) 0l &f (xy=0) Jolas O 13) (&)
OB A% C O BB 5l pouadl §9K A=C cilS 15) o
(IS ol oeia ggb AC=0 0 15 o
g8 ald gwin g4 AC>0 0 13 o
15 i pois g4 AC<0 O 13] o
ele daay  (B)
(IS0 gl ois g8 B -44C=0 S5 13
(g8l pb pwia g4 B -44C<0 S8 1)
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L Jaddl 1
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Ligtl ¢/

Unit Circle o> od| 5yl
1 Lajki ciaiy (0,0) LajS e A UsAIW0 oa 5us ol 5 500
s> gl 5,805 lmay x4y =1 o il gl 5,8l Dalae 0555
21 59l
D) sloall mo Lablis blis g 54l 3305 oy) (8.1 Jte
(81 S

Example 8.1: Draw a ynit circle (see Figure 8-1) and indicate its inter-
cepts.
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120 idod) saall 5, bLadl OS5 (10) diid] .1
S (gdSlg ¢ o g0 i dds LS;}’ 5, blall Plx,y) daadl .2
oo delldl O)lis S olosl <! Bl 5 510V J g udls
(82 S ksl) «(1,0) daid) o
y y
Il 1 Cor g0 1
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i
/ P()=(xy) /f'\
o Kj(m)”
P(t) = (x,y)

8-3 J& 82 S5
sl 3o gl v i sds Y 5 bl Pl y) i) 3
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i) e ey deldl ooylie olowil 3 [1] Blus 5 5001 J g
(83 JSa Jkil) ((1,0)
() P(n/4) 5 (d) P(-,2) «(c) P((n/2) «(b) P(m) «(a) P0) Ao :8.2 JCt
(84 S ki)

Example 8.2: Find (a) P(0), (b) P(r) , (c) P(r/2), (d) P(=n/2), and (€)
P(n/4). (See Figure 8-4.)

A &
(n/2) = (0,1) (m/d)=| L L
. V2’2
~(-1,0
(1)=(-1,0) -
(0) = (1,0)
(-m/2) = (0,~1)

8-4 JS
P(0) = (1,0) O doss i) Jo ¥ susll oo 1
OB b I 8515 Laoes Cinai o2 1 OF o 2
b g 5,505 J g Bl il a P(M)
il oy loy Ll Oylis WS by
P(m)=(=1,0) daid) OS5 ldys (1,0)

£ s P2) O a5l Lo gy o 1200 o 3
o e ds el Oylis WS Ll su> gl 5 5l J g @l
LP(2)=(0,1) daid) OS5 Wy (1,0)

ol ool 5 15,80 J g dilaall gy 2 PCT2) 4
LPE2)=(0-1) daid) 045 Ay (1,0) daid) ya e oy de Ll
L) O 12 | ho e Blaall Cinai 065 14 0f e .5
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it i 34s Y WU BN e o] Sy
Pi+2m=P@#) .1

P(=0)=(x,-y) Ol P(=(x)) csl§ 3] .2
Pt+m)=(=x-y) 0B P(O)=(xy) csl§ 3] .3

&

Trigonometric Functions M| Jigd

s Sy PO W) jLsadl i) P3) Ui s 1 IS 13)
ol Liliadl J1g 1 OB P dhidd) 5 bLally Usdgll 5 51y e

«(sec)Ls ((csc)ud ((tan)L D «(cos)li> «(sin) > 59000 W 50

b US i o oS il b oDl
(t\>) sint=y (tbﬁ)csct=% =0 Lis)

(t Li>) cost=x (t\ﬁ)sect=—}; (x20 Los)

(tUé)tant=%'(x¢0 Lo i) (tL';Ié)cott:—i— (20 LLs)
P o g PG-%) ol e L.u.a- \:J.o t O 15) :8.3 Jte
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Example 8.3: If ¢ is a real number such that P(E"S-] is the point on

the unit circle that corresponds to ¢, find the six trigonometric functions
of .

F sl Gl 3 g P ikl gl Sl of
b WS OS5 1 el daliad] JIglf O

%zxz (cosf) t Li> _%:y: (sinf) t >
4
8. 0l . 4 _~"5_Y -
——=—=—= (cscf) t LS -z=—>=== (tans) ¢ \b
4 _ig_ y L, % X
_iz.._%__:ﬁ_—_ (cot ?) ¢ L i=l=-l-= (sect) t 5
4 _%— y 3 % by

J S PO=(0y) 3 cudl Lzl Sl i) i 184 JUa
Ay W e LY e )

Example 8.4: Determine the signs of the six trigonometric functions of
P(f) = (x,y) in each of the four quadrants.

JEg|E FUEKIPIN pAl G irsy x o S ohla] 0 L
Ja Yl pAl S L ge 0585 Azl Jlyl

Loy Lad 055 Latg 1T JUWI o}l WL x dad 065 .2
S 055 Ly Lo esct asing oo JS L 0485 Sl g
Al Laleadl J1g)

055 iyl LI ao M Gl y ax o JS 055 23
OS5 il | Jlgdl 8L Laiy &> 9o cott ctant oo JS™ o
AJL.

W 0sSy5)la) Lag IV o I 3 drgo x 5)La) 055 4
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W delgd) M ld ] Says

sin(t+2n)=sint cos(t+2m)=cost tan(t+T)=tant
csc(t+2m)=csct sec(t+2m)=sect cot(t+m)=cott

J3Sag cos’ f S (cos £ sin’t S5 (sin 1)’ O dols divarg
N3y sin’ £ dole dduay LSS (sin )’ O il Ly

Trigonometric Identities p Wi { QTP ]

* L4

S| RCH LN PO VON [ SRR e | NP P AV EN
Aslaad) e B yb IS e Sn OF Wb gy oo
el Lalsall SEMNL o dydadl Jliny

0B b | e JST @ aad) 1 o3 pend 9o i Olalae L1

2 . 9 2 2 2 2
cos“t+smm“t=1 l+tan“t=sec“t cot“r+l=csct

(015 bl o JS) 8 madl £ b poand ogliall il .2

1 1 |
csct=—— sect=—— cotf=——
sint CcoSt tanf
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sint cost
tant=——  cott=—
COst sinit
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sin(-f)=-sint cos(—t)=cost tan(-—t)
csc(—t)=-csct sec(—1)

~tan(

il

sect cot(—t)=-—cott

Al Gy el J199 Wbl
Graphs of Sine and Cosine Functions
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Example 8.5: Sketch: 18 Dl - o) 185 JGa

l ( n) 3
u=-—cos| 3t+—|+=
- 4) 2

e U o on L u)la.U(S-'IJ_(...) sl 06
Y1 sk 203 nes ' Lpinay s e L) Lglia pladll
s3—b solass) T2 ) 112 e il g () +3=-m/12
seall s Ly glata Ols dapyl J) (sl 595 + B 153
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Graphs of the Other Trigonometric Functions
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Example 8.6: Sketch a graph of u = tan(t — n/3).

)iy L;\_}.a u=tant S| gown i o JIAI oda coeie 055y
sl §y9d40 a5 tan T Of Gy o1 45,939 adl ) 8d>9 /3
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Example 8.7: Draw examples of angles of measures 7, and 5

/2 wlida M b

.l

y

b
A
>>: | —€P> >

8-15 J&&

(gead) Wldll) () oyl ssle lidadl 3 Llgl el
Laly 21 OF 6l 360° gaald 05 alalS 5y9u] i gl gl
kb Cinai o)y m=180° O of 360° = & L iwas

pddeis Ol b Lyoly () 65100 paidly &gl o goed s
@l g A1) bl O puy g & s Canas 49l 180%m=1 & Nl
LI pasens 815 el ] 0l uliio Jy gy L 180°/
Jadadls m180° 3 byl ulde Oy g (g 81 lide 19 =7/180
Aslall Llgl ol jasdy JUI

Ml 1 0°]30°]45°]60° | 90° | 120° | 180° | 270° 360°
i) 49l _2_;_{ I
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61 J g (B) 55101 paidl gty J) 210° Sy (a) (8.8 JEha
by J) & kd e 4ol

Example 8.8: (a) Transform 210° into radians. (b) Transform 6x radians
into degrees.

(a) 210°:2|0°-$:Z£ (500 diIL) 8 ings 95

(b) 61 (5,511 ﬁ.L&;JL;)‘—‘&r. —LSRLO:lOBO0

00 () oyl e gl 2 9 0y gualB ety 1 gl

i kb Canas gl /2 \guld U"'H a9l Ml ol Lol ] (90°
Lgly 1 en2 Gy Lol a1 Dl Wl el gl e (90°)

s Dl lg o ke gl gamad (180° 0900 () ki Choas
agiian &glj g (180°) 4,k Ciai dgly M gl 3

Obamss fea OB a+ =12 01 by oy wugly B @ colS 13
0Lty 9l) Oliawd B e OLs a+ =1 cslS 13] W Oliobiss Ol sl
Olike S
O 13] 6 9l daazedl dalsll dmof 18,9 Jiie
0=137.25° (b) «8=7/3 (a)

Example 8.9: Find an angle complementary to 6 if
(a) @=m/3; (b) 8=137.25°
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M2=0=n2-n3=n/6 : & 0 &l daszall G4l 3}l (a)
.90° - 8=90° - 37.25° = 52.75° .37.25° I-.'..B‘)-U daaial| 3._:_9‘)” (b)

O 15] &l bawse Lol i)l poo gl 3 sl Jo Jlis
g0 39de b die A gy Sl (L) Cildl ks Ly
Ll Blowie gl alm Yy sllane 4315 e 4Ll douiadl L5
AN Ao Byl <3S 15]) 27 2 bl o e dillane il o
(Ol MY ddn Gygl 31 S 13)) 360° o (5101

~ L) gdown el >3 18,10 Jée
r=60° (B) «dy kb nai &9l 2 (a)
Example 8.10: Find two angles that are coterminal with
(a) 2 radians; (b) -60°,
2+2m OUsSy & kb haai 4915 2 o &gl Bdowie Olygly (a)
Llgfl e 2T 08 sus dr gy LS 2-2n
~60° +360° =300° QU oSG -60° ao &\l Lkowia Olusly (5)
TS RV IE NN T J:'.«Jb._g -60° - 360° = -420°

r=y ey O 1l fo ¥l i lae L 03 SLdl ol
0 45130 ol dtlaadl J1stdl OB oY) iy P oy Blundl 055

T

0\> sing=2 0 \i> cosf == 0 tanf =2 (if x £0)
r F X

015 csch="1 (ify#£0) 06 secd=_ (ifx#0)0\bcotd=2 (if y0)
y X y

P(3, 4) i) Oy —aldll gl 3 gl OF el 2811 e
(816 JSa Jkil) 025050 sl (o)) sl e ai

- 142 -



Example 8.11: Let 8 be an angle in standard position with P(=3,4) a point
on the terminal side of 8 (see Figure 8-16).

y
A

6

P(-3,4

8-16 JS&

ols .;1"=\fx2+y2=\/(—3)2+(4)2 =5 =4 x=-3

0 \> sint‘):l=i 69\:«'-?(:036?——~£:—E 0 LL':tanB:l:_i
roS gD x 3

0 wcsc9=£=§ 0 lﬁsecﬁz—t:—E 0 l:lécot(?:i:——?,—
y 4 x 3 y

MU el sl bylasl (Say 48 3l 4515 0 ilS” 13)
29l e JS bl O jslomadl  oliadl ccdzall 5y oo e YU
¥

A

P(adj,opp)

s
MY

opp J;LMM

o JP

8-17 J&
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el gl Lon gl ) sl o o 2 il
r'=1/.wc2-+~y2 J_,‘,Jl JJL d}g-'j “-‘-’-‘)‘J‘ u.).p Lg.\\.,.a” )‘9:,;«\\_9
I EJ}""” LS’ ddzall J1 gl d}g.‘ 0 55\ %J‘}Ug

0 > sing =2 =22 6 L c059=£=ﬂ o b tan9=l:9—@
r - hyp r hyp x  adj

di

chscgzizm g s Secezizm 0 b cotezﬁz-a—i
y opp x adj y opp

Lol ¢l adj 59 shhyp Jlia]! i opp rda>de

= oy 3 WS 040l el Ll Il amsf 812
8-18 S

Example 8.12: Find the six trigonometric functions of 8 as shown in Fig-

ure 8-18.
%5
0

12

8-18 JS&

ol -l h o WS 0405
12= (adp) Hol=adl « 5= (opp) Jilaadl « 13= (hyp) ;i )l

0B 3 o

OL?'SinB:EER:.;S— gb.?'coseziqj_:-l—% g&taHG:EP_Q.:_S_
hyp 13 hyp 13 - ady 12
Qbécscﬁzwz-l—:;- 9\536C8=M:1—3- Hbﬁcotez—qd—ng
opp 9 ad) 12 opp 3

2 O ool gl B LIl 2 0491l dnr pdl &l
S Gadly il ol g s il R sl
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O ol] nr ) Labilgsy Lol )l 8-19 JSG gy .60 &l 50
Wb oY Ly Il 8 Llosl dam ol Ll slow Yy 0 <0 <2
i Lol B gl o a2 it s of i Yl

0<0<2m BN gieiy 6

1T gl I gl
y y
A ;/
§ 8 br
s X >
Op =10 B = 6
= 180°-6
IV 11 aupf
y Yy
A
8 0 )
?IEQBR g BR
GR - 2“" 9 GR = G_Tt
= 360°-60 = 0-180°
8-19 JS&

Loy e 00l oY o ol g 1 AN U g S dtleadt 1 g
Ll gl A1 dallaal) dudll i ) 029150 Lo Dy JS7 015
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o O sl D101 a0 % l31) kel D11 sl G sl
0yl 4 o5 Gl ) i o] 5,5y o

3 .
Example 8.13: Find: cos il 1813 Jie

055 Sl a3 Lsly as 005-33’1 F I\ RN A |
(cos) rl.w.!\ cur Db g)la] 08 gl AL ,n_-%nz%

(84 Jliog 82 Jlia ki) cos—?:—cos-g—:—vlz- ol Wiy AL

190° (60° (45° (30° (0° Lyl Lalaadl ol Jod> S 18,14 JUha

Example 8.14: Form a table of the trigonometric functions of 0°, 30°,
45°, 60°, and 90°.

(L8 30° - 60° elio auwi 30° (60° Lyl il JIglll sl Y

o einas ) Y (salin il ety U3 o Of Koy il
Laaadl JIgudl sl Yo (820 JSa Luil) elaad) ugd)y sd] I
(821 S 3 WS) Ll galcall Ul il o 45° 1)

Tl a8 Al gluca G4 | 30°-60° dyglyll il G
'.‘1
45°
V2 £ o\
1
]
45 o
1 A
1
821 JS 820 JS&
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(G- g 8-2 J L LS" Gl Lidind) Jladdly colikind) odn
(3w il S35 U 50)1) JUI J gl

;:ﬁ?i; 3’,)4 Q| sinf | cos@ | tanf | cscd | secd | cotd

0 0° 0 | 1 | 0o | u /| 1 |uU
/6 3 | Y2 |3 B 2 |23 B
/4 4o |2 |z | 1t | 2 | V2|
3 6° |[32| 12 |YB|2YB| 2 | B

/2 90° 1 0 U 1 U 0
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&wu! Jadd
Sl mm gty AL ummo
Tngonometrlc Identities and

Trigonometric Inverses

Jaddl 8
aaSall ASEY Sttt
WL Gty v/
asy oYttt J> v/
g3l ciialy wiplag 7 olag gz e V/
sy v/
adadl| OIS V1

duuSall ASLLN 1ol
Inverse Trigonometric Functions
SSandl b pay D3l b ULy dys0 055 dtlzed 1)
53leliy Ldwlu Y1 dilzad | S Gl o g eSan iy jai

o ge e Lalasl o3 g o gara e dalie Dy JS 4y o
Lal-1 095 O Sy it Ay o Jaameies Wl D1) 3l
Slseall Gl JU1 gl g daSs Bl L) 085 g
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AT D101 065 4 sy Dl S

B iy o

Fl)= @laidi Sobad|
b e :
- [ 2:2] [-1,1]
x L [0,7] [-1,1]
M T zz.]
g ( 272 -
x L3 (— ﬁ,—z}u((),z] (- 0,1} 1, 0)
2 2
x 8 [O,%Ju[n,%’r (= 0,-1]U 1, )
x Ub [0,1] R
O1 Y] Tamy el 48 Gl OF o2ys B> JS' 3wl LoD

98 WS 06K il Y I IS sl
pan B sa) deed) el OB D> IS 5 6l Uyl LDy
oSandl opp 065 dBy .yl i 095 (el ¥ 3} 0L Y1
il el by Al Jlgs Bl 3 Sy 51 Ol sgry
ol 18T on L pasenal) jlas Yy ple Glsl dr gy Y

oSy Juolial) s Y1 prl ) 8 Lo g
Sl ALY gl Slad yad
.J:.E.é‘g \51y:sin“x Eyajl.gf(x)=sin_'x U..o«“ dls uu‘,s.u LJJJU N

U wisb 31 ellyx=siny 5 -1 <rsl ;—gsysg 3)

IV @JH ol @JJ\ T o]
y=cos x ML £(x)=cos™ x ru—"“ o A ugSan Spmy 2
u—-’*‘” p—:-mj *x=¢cos Yy~ £x<1 0y <n 13) L g 13)
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I g s DI s

‘31 y=tan'lx rtp PE f(x)=tan*lx JL“ dls u,.j_i_u J;-"-.'. .3
A Ladsb ) il x=tany e ‘--’ZESysg 13) Ladhy
IV g d g

y=cs¢ x @M f(x)=csc™ x rlA-'i-‘\ tl'ab s jusSan Syay 4
ﬂ<y£3§‘x5_1 \_ALQ (X =CSCy Y \J! Lis 9 9 ‘J!
S W i A edly o1 0<y <X
A g )l )

y=sec” x BIJL f(x)=sec' x cbu” s pgSan By 5
sl m<y<=Z grsot by r=sery cdlS 1] Lidy )
d Al e Al i b ) odlls 21 0<y <]
I )y

y=cot” x &ML f(x)=cot’x rl.o.ﬂl Jb s oSan Gyny .6
u‘l"t L;—J‘ P-‘-‘“j xeR (0 <y<TE cXZCOty ‘3! Mj ‘3!

0 My gl b g D10

Example 9.1: Evaluate: HOWE A | J G
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Example 9.2: Evaluate: rom-| 19.2 JGe

X

gl ;-1(_1
(a) cos 5 (b) cos 2]

Dol odg) d g Jodls 0y ccosy=a (IS cos'l% @
cos =R o5 gay  F a0 sl

odgd L gll Jodly 0<y<n :cosy=—%— (IS5 cos“'(—%) )
.cos'](—-é—)=2Tn o ooy 2 g 0S5l i Blaall

Sl g gl 13l U | 4ol il gl I ity g

o . E =
sin” x=arcsinx CoO$  x=arccosx tan  x=arctanx

cse ™! x = arcesc x sec"'x-:arcsecx cot"x=arcc0tx

Example 9.3: Evaluate arctan 1. -arctan 1 ! 19.3 Jlil

Dslaall > I Jodlg .——§-<y<g- dany=1 ;S\ y=arctan x

.arctan 1 = % ST :% 98 09 bl @

Trigonometric Identities Al O it

e s Ol Oy glatn iaSd) OF dgly o g2 diglaal|

s bl Jaod ) S dnall o8 grand

il Y Zaliad) Olileadl S5 L Lads

o]l @ mall £ pand gl il 1
cos’t+sin®r=1 1+tan’t=sec’t cot’t+1=csc’t

iAb 8 pmall f 08 e Lol Glile .2
| |

l
csct=—— Sect=—— cott=—

sint cost tant
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1 b S0 @l 0 pand el )5 Ol .3
[ cost

sint
tant=——  cott=—
Cost sint

10 b JSI @)l 10 prand gl lillase 4
sin(—t) =-sint cos(—t) =cos ¢ tan(— ) =—tan ¢
csc(—t)=-—csct sec(—t) = sec ¢t cot(—t) =—cot ¢t

Aleal) O | Janns b Gl 1 il Olillazal) p s
2

Example 9.4: Simplify 1'?05 i L 19.4 JCa
sina

l'"' VRl —cos® a=sin* & O e &) 9 d Uiyl S

2 5 9
l-cos"a sin“a .

- = — =sina
sina sina

Ll ) peilad! dl gt oSy inn diplane 3w L3
Loy godly Lol b Loy & o) S oy 59
ey cadl A J) 6 ol bs Uyl Jos WS dtliel

bt

e fh . e SINECOSE _ 2, - f L. . L
gy ae O = 0™ Ol oo s (9.5 Jlke

Example 9.5: Verify that S“l’ “t’“ = cos? t is an identity.
| an
I3 1 gl I 8ghasdl OS5y g 91 G W1 0 5 0L
pladl s ol
sinfcost _ sinfcost O 0 .
tant sint/cost .
: sint i
=sinfcost + — L
cost
_ Ccos? U
=sintcost — By
: sint i
=C0s" { rpee
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ol eiuald u sl dagd) gy o> s> b 8Ll IS 1)
e Linllta e U] gy A ilaia o) il il
RPN I P T [OF PN | R O PN | X PR Y Py
ilass Cand sint+cost=1 Ol el 9.6 JUa
Example 9.6: Show that sin ¢ + cos ¢ = 1 is not an identity.

JLill Joar Jlo ot od Jand lemens 5Ll 0 OF o 0831 e
OB r=n/4 Gl 15) &l Cu et cod Lgls 120 Lois

2]
L S S,

Al C¥alal o
Solving Trigonometric Equations

Loy tliadly iy pod) G plasenaly dtlied) O¥slaad) J Sy
WIS g pled) oy condl Jlgs I 65 Y1 Jlgdl o U3 b
NiSag ety Uiy Ty 3 med) dtliall lilasal] o s gty

cost-— doland) LSanl! J;la.l\ - d9l 9.7 JEa

Example 9.7: Find all solutions of cost = %

o 145 [0,27) ) 5 Jgloud] monr - Yy dor

_|] T
[=C0S —=-—
2 3

23 13 donz dl Dl 3L @l M w1 3 S Ul s gy 4l



s Of ey dldiod) 2le N Jal I L) J) 6 g g

it Lﬂ n G ST3+21n (/34210 by gaall

Usbaald [0, 2m) 5,5 8 535 gall J ol JS gl 298 Jbo
Stant=3tanf-2

Example 9.8: Find all solutions in the interval [0,2r) for
Stant=3tant-2.
sl bt oy ] L0 Bolas J) Vsl Dslaad! Jy g
o
2tan ¢t = -2
tan f = -1
Usbeally + 23U [0, 20) 5, 3 Bslaadl Jyl IS g 0Flg
IV oy My T oy 3 6 &L OS5 Jlll @ Of e tan™ 1 =4
e J}Lz” oA

=17

- = n
T - —34,27r 1

4 b4
4 4

gl iy wpag Zokag e e
Sum, Difference, Multiple, and Half-Angle
Formulas

6I v o Ol o2 LA bl gy gl 7 plally dad! e

10l L 3las

sin(u+v)=sinucosv+cosusiny  sin(u—v)=sinucosy—cosusiny
cos(u+v)=cosucosv—sinusiny cos(u—v)=cosucosy+sinusiny
tanu +tanvy tanu —tanv

tan(u+v) = tan(u—v) =
|-tanutanvy l+tanutany
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sings S SN D)l ol 199 JGe
Example 9.9: Calculate an exact value for sin{-;—.

n n 7

(0B ol o) - digllane plisisatyy =7 =7 Of o Dhay

12 3 4
. (= 7[)
sin— = sin} ———
12 (3 4

. T X . X
=S1n—COS——COS—SI1n—
3 4 37 4
311
2 a2 3 42
_3-1_46-42
] 4

0B i 2de sl 001 ok RSN Jlelt Wygladl Jgul e

sin(E - 9) =cos6 cos(g - 9) =3inf tan(% - 9) “cotd

\ 2

csc[£ - 9) =sect sec(—’E - 6‘} =csch c:ot(£ - 9) =tanf
2 2 2

dde 6‘ 6 O o2 Nty aleddl Wy gl Ayl whad Ao
0 i
2tan@

sin26 = 2sinfcos@® cos20 =cos’ O -sin’6 tan20 = 3
| -tan“ 8

S Ji u Of 2 s A g eield d gl i) D lale

= 30 e gl 4 o b 1 Jally A ey wioll Dl i) e
ok
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= + €O A 1-cos
Sin_{\_:(i)\/r cos A COS£=(i) l+cosA tan—:(i) COSA
2 2 l+cosA

_1-cosA

sinA
sinA
l+cosA
R lJ" iale Ldin ua.uf.” J..la.” BJL.'J.! S Jowd ugn.n” N U“JJ
A3y iadome Ul sl o 5Lyl Wi - Say 4] o ol
.A/24,§ o s @,H & doety

sm-i- A ols 2’-15<G<21t ;cos9-— Of culs 13] :9.10 Jida

(]
£ €085 9

Example 9.10: Given cos@ = % —32£ <0<2r, find sin-g and cosg.

in‘, an.J‘ Mgduj}‘uc&ﬁmb
s Jas 2 e L Ll Q‘J_L|JSMJ —<9<21t

Byla) 09y II C—')‘Hu—’ u_,_ia CIRTY) —-—< <1c
cos-— J LI Lﬁ’ﬂ\ 2L iy Lo g0 smg-

1—g ]+g
Sil’l'€=+ ——iz\/I COS€=- ___..3_=—‘/§
2 2 6 2 2 6

Triangles W] il {
91 JSa 3 ABC edaald B gLl 590 )1 s
oy Uy Jolo cdiay das gl o gy ¥ sl il o
LI,,M g2 abie BN (¢ o) Colgod) 085 4BC eliall .....J\
.a By &I
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gl 3> SLU Ayl adld Sl

9-1 J&&
Gl s o cdiall o dilas 0Ky
LY D6 ey 0 ale iinayy ediall 515
o i (0 O34 o il o o
o oSay 46 (¢ o Yl) Colgadl -l 54
Lol I o 6 litzaly) idiall 51 oL
¥ A DL ol Oltlte 32y b o Say A
(lanedl UL pa Gty ellin 3 gy L Sy
Logldl gms Uokia Ggpmn o5 Y1 o 0B sl cllaall s

sl Lol gu] o Sy il o ol La) & mauy .90°
sl gl iy a5 plasealy Y1 8152 Y1 s Say w16
cliall Uylg g gaome OF Lanly sl 4 iy sl Llgsl
180° (6 gl

(@=30° & ABC dygljll LS e laddl OF cale 15) 20,11 Jia
edidl dogl 0=20°

Example 9.11: Given a right triangle ABC with ¢ =20 and & = 30°, solve
the triangle.
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a+ B+ y=180° Ol & 1B Mow Yy y=90° ol g2 rdall oy L

B =180°-30°-90°=60° & B=180°-a—-y Ol

Sy sinoc=-g- O 4BC 4313 fgb eddl g H ‘..Lu a 3\ Y

.a=csina@=20sin30°=10 1045

ST E=d+b Ol &y gblud & ki oy r..bu b sy
b=vc —a? =202 102 =4300 =103

O Ogliy Lgdl Oyl r\.xs;;;..al.; sl oldadl > 0559
.rLuJ\

Ll oy il IS e Al OS5 e (6 Toipundl (gl
) il gl el i p il 1) il

a b a c b C

sin@ sinf sin@ siny sinf siny

g gl Uglao il (sl o 058 e oY bl g (il
0 el i Jeol ins aia Umg s oy 5 W (il ol o
.l.e.«.v 3)},4:&” AJJ‘J.H rl.u el

a’ =b* +¢* =2bc cosa

b =a* +¢° —2ac cos f

¢ =a* +b* -2ab cosy

doe pladl Qg Ol pasuiy b WG 6l oliliadl Jo s
= r‘J."u-w)U J_Lo;ﬁ\ 3 o) Ol 0659 il 9 &y 9ly 49 aa
e P ]

=114 @=D39° Lo ABC gl ) (S Elial] Jo- domy 19,12 Y
=828
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Example 9.12: Solve the triangle ABC, given a = 23.9°, f = 114°, and

c=82.8.
9555 b WL Cogendl 058 OB nglas eyl Al OF e
4.......\...:“ 4.1....4”3 48 al |
1y sl Y

a+B+y=180°y=180°-a—-pB=180°-23.9°-114°=42.1°

ra 3w gl O gl r\..\.&a.ab__g

a__csina_82.83in23.9°_500 . . a ¢
siny sin42.1° ' ""-91'("'&;"*’ sing  siny

b oY Ll Cgedl Ogl r‘.L:'w.:;..ubJ

_csinf_ 82.8sin114° b c

b — 1 13 : . “w o a -
siny sin42.1° ,_y)i_, o2 B siny
Polar Coordinates dusdad!! LY

bl Yoty (g gtaan il ) D) Gail] it Yl ol 31
Lied] 0 Llgly Chd)) pos r s dlaiy DUl ods e 5,500))
bl el o (@I i go Chill Cox) ol plad s
bsd el ciadl ga il el 050 (02 S i)
] o cpadl ) p g sadl 3has Y

P(r,0)




095w Il iyl l a 0065 P ki sV
bl o Jool ! g laly il gomall
s Lulisdl Blaad) a7 045y P )
S ) sV P =T ula.ﬂ.”u_dtu‘
¥l aloy Chill Lul) 4315 6 0B dorgo r 055 oie (1, 0)
Lol .0 sldl ool Je Olas gl o 7 iy odadl] ) gouall ga
oS 5Ll glazll e ol gl s 7] udid Ll r <3S 13)
Jay S5 0L g $Y =00y Lakiey .0 I sl colsdl

B dhaty Miaa (r, 0) L3 po E_aijéjig, iy ol odgy Judadll

(93 JS2) (-3,13) 5 (3,7/3) o B3deall Ll oss) 19.13 JGe

Example 9.13: Graph the points specified by (3,n/3) and (-3,%/3) (Fig-
ure 9-3).




dnd by 035 Y ki) Lokl OLglaY1 0B QU5 g
i)l OLS1a- Y e 8\ o gases Jla 045 P dhais 5 Lae )
31 UlsPl e SeY sue x4 W elldy P dlaial) dlliol

P kil W) e Nol ai

Uylaad) Ll i Y ddlisee 0l gaeo iyl 81 19,14 Jla
PG, 1/3) dai:l)

Example 9.14: List four alternative sets of polar coordinates corre-
sponding to the point P(3,1/3).

Ll poo Ll sdowin gl o uaowi 20 J i Liaa (5 o
el el | UL 6 (3,.13073) 9 (3, Tn/3) = E{SN)
Sl Gl W ne B =dn3 Of ooy . opuSany mpilises
O34 (=3, 10m73) 9 (3, 4n/3) wldlaYI OB 13 I Jliodl ¢ Lasd]
P ibil) g 1 ks olilas|

olLilu- N rl_Jas s kil OlilisW AT o 1319
oo o WU | geed) OB OB (94 IS G LS 45,
O e e gasall

A L P ihidl csls 13
(r.0),(x.y) (r,0) imuhaidl ©Lslu=Y!
55 oYl

r Iy
b | ok (x,) &

x=rcosf y=rsiné

r2 =x2+y2

9-4 dgfg tan =2 (x#0)

X
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3,80 olslasY1 I (6,203) g 19.15 Sl
Example 9.15: Convert (6,21t/3) to Cartesian coordinates.
101 dow gl BN plusenalyy 0=203 5 r=6 Cor
x=rcosf@=6cos2n/3=-3 y=rsin@=06sin2x/3= 33
(-3,38) o iy, wlslas Yl O 6SS o5

02022m >0 Eup Lok OUilI>] I (5,-5) g 19,16 JUa

Example 9.16: Convert (-5, -5) to polar coordinates with r > 0 and
0<6<2r.

OF s Jagoedl 0N plusnalyg y=-5 ax==5 O Ly

P =x?+y? =(=5)2 +(=5)* =50 tan9=;v—=:§=1
x —

r=50=5V2 Ol Lo r 0555 OF wglladl e 6 Cumy
0959 0= 5u4 (Il gy} o6 05 5Lhaned)ihaiid) OF o
(542, 5md) o illarall by il o I dadll oltusyl

UslaeS 0 or szl o (gguod Uslaa (g1 s 1 Say
0 3 DI Lme r 0S5 e Wby bl oolilasYL
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4 o

LJaddl 1 A
Slatizt) v/
& Shakait] &

O hadiail du yond L8 Yt (V4
Al Ofkakeaitly Slastiit) v/
gl Sty lagits &7

Soadl SIS ylas V1

Sequences aww |

Laglizal () Zoaeddl sl Y1 (il D3 oa daylizal
lo A amadall Sle Yl g0 L85 e gasme o (L3 I
pisniay (B3gdomall nlinel) ST 3y oy 1 oy
REINT TS UN| T (_ril .8 f(m)=a, JK...JI
SUS Ll oY1 ol s a5, 350l
(S L gy gy (LiSay L SIS
S 3o ) Y] W Jead) izl Gy
Al 065 dnliaadl OF 51 Jlgo]
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ay=2n imlzadl e Js ¥ dn,) Y1 agusd) ST 0100 JEe

Example 10.1: Write the first four terms of the sequence specified by
a, =2n. |

g2 le=2.2,,,=~2.3,m~2. 4
e 2,4,6,8, 91 L.i. 21,22,23,24, dnliadl B8 Sy o

a,= (1) dnlizeld 3oy Y1 gl ST 0102 S

Example 10.2: Write the first four terms of the sequence specified by
a, = (—1).

a,=(-1), a,=(-1Y, a;=(-1)’, g, = (-1)’

O ) P 0 ) VL PP [ ALK PO P
A 111 5l

o9) Aol slom ) oSay dnliadl 3 Jo¥l sgdodl ¢ Ll
Ok il 3y L 294 o 3oy | ae Say (s JQ..J\ Y
GML}MMIJQJLH!Q&.QQJ Iy o) S 1
Y
cee 1,4,9,16, dnlial) el dsdl sl 1103 JEhe

Example 10.3: Find a formula for the nth term of the sequence 1, 4, 9,
16,5

LS 0y o Sags sdad S Gy e 3485 asdl JS OF Lamy
A 09K Sy e 128,30, 47, 6 gaadl e dalinal
ol Al Ll dn s (Sagy @, =1 6y gaally ane
A L) seusdl DY sza'-'}“ Sedod| Ly Ui g

- 10b & nadl dalaneld J oY1 dny Y1 35l ST 1104 ke

=3, 8,=q&t7, n>1
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Example 10.4: Write the first four terms of the sequence defined by
a, =3,¢:i!"=an_I +1. n> 1.

a,=3 Obn=1 Lis
Gm=a,,+7=a,+7=3+7=10 Ol n=2 Lws
a,=a,,+7=0a,+7=10+7=17 Ol n=3 Lls
a,=a,+7=a,+7=17+7=24 Qi n=4 Lis
ceer 3,10,17,24, 5900l o dmliadl 4LS7 Sy g
Series )| PP {
colS L0 Ldmluad) LWd) Hlaadl sgusdl fyame b & Maadiall
duduzall QL8 390w daglize (o m dde ) d9usd) ap, @y, oy
\r\—ﬂgjj a, i a, 53 a;, v ¥ il BJJ,.A.” L’j Q‘,SJ &.a.!\.:.‘...d\ b.lej iP'L@AJ‘
| tp gamall 3oy plisuzaly 53l ezl

al +a2 +£13 +...+am =Zak
k=1

sl g gamell JIAL k iy T gn § gamall 50y 05
koo g, f gmam iyl 1) a0V OB (g olasd JJl)
m )1 e T

Lol JSa st 1105 G

: 2
ot ¥
2, 1
Example 10.5: Write in expanded form: ZP—
k=1

(s e to"“" 5 u.‘! I oy el e YL &k el

81 11 1 4 A 1 1 1 1 52609
—i-=—2+—'2-+—2+—2'+-'2—=1+“+*+—+—'=~—“—.
el S i U 4 9 16 25 3600



Series Identities G aduaciald Gyl L8 St

+Y by =Y (a+by) Zak zbk Y (a,-b,)
k=1 k=l k= = k=l
ank cZak Zc:cn
%‘ n+l Zk ﬂn(n+1 )2n+1)
=3 '2+1) oy n(n+l(2n+l)(3n +3n-1)
Zk g{k 30

PRI ) P PPk (| T e {
Arithmetic Sequences and Series

caliz| 15] dgluodl daglizal by g, slas Yl 0 § oSl dmylizall o
O sl i gaadl alal s acaldl lael ity &lzall 3904
Sl o) (Seus dmbiadl 39> gazd 0, =0, +d wa, ~a,=d
ay=a+(n-1)d 055 Sl dodl OB dolu daline Y

ot L] Sl sgusdl 6 games a gl dduzal OS5
o el QL S, o) sy 53 gdoeal ] Ayl daylusel|
daluod | il s,,:ﬁlak Of s eg sazeal

S

n

zg(al +an) S, :3[201 +(n—])d]

w9 ylodldnmlzall e Jo Y i) s3dsdl oS 1106 Jla
Example 10.6: Write the first 6 terms of the arithmetic sequence 4, 9, ....
a,=4 @,=9 LI SWly JsY1 wodly inlum dmbized) Of Com
FS 2l Sy o 09 a0, =9-4=5 goluy ulu Y1 088
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Gl 9a0d) OS5 3 oy o5 BLok 4 G| dsd) pluseily 4>
4,9,14,19,24,29 JoY!

Jlaadl b el o JoY1 M il § gooma gl 1107 Ja
L]

Example 10.7: Find the sum of the first 20 terms of the sequence of the
previous example.

Ol ey o] iyl o Gl plasal (Say Sy 3l ¥
sl danall r\m\ el 50 09S5 €l =4 n=20 d=5
S, = -’-21’-[201 +(n- l)d]

& =22—0[2-4+(20—1)5]: 1030

Al D eadaadll g @l
Geometric Sequences and Series
O 15) dpundzgl) dinslizad b @, Slae Y e 358 I dmylizal) s
Al )] gy Ll e O el ite o (6 Ao il

"J_{c.._».‘g i_JJL.A.A.H .)3.1_-» t.A:J a, = ra,- ji Q, + Ay :rdi LST
cay=ay ™ Ol dawden daylie 63’ & ol

L] oLl agdondl g goome Ll il Akl J) Lt
PR S LA R NS W RORR LR A [ESEN

/

oo 6 A Landigl bl 3 J gY@l sgdodl LS 1108 S
Example 10.8: Write the first 6 terms of the geometric sequence 4, 6, ... .
a=4 =6 SLdly JyYI boa>y dovdin dnliedl OF Com

g =6+4=3 ghilens r Wl L] 0S8
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Ol by 6,0l d gl ..\.aJ\L',n .L:-Jf Slow | .Li.us-ugm__g

27 81 243

o bl pn (SoY) dglasd] gl ¢ gaze gl 1109 JEa
! Jadl

Example 10.9: Find the sum of the first 8 terms of the sequence of the
previous example.

a,=4 «n=8§ cr=% wtmﬂl dao r‘-bu.w‘d

1-r"

S 1-r

e ~(3/2)} _ 6305
= 1(3/2) )

Binomial Theorem edond] SI3 i

oo il (S E a8 i § gamn (ol IS A Sha 065
a+b gLl sl J Sl OLS 308 o e (8 5 el 0ing
fiygeadl 5 0SS Ja VI sgdsdl O
(a+b)’ =1
(a+b)' =a+b
(a+b)* =a® +2ab+b>

(a+b)’ =a’ +3a’b+3ab? +b°

s @+ b Ll dy Sin s el Nl o dydall ling
JL,.QJ\JM..
(a+Dh)' dSho B sgdodl po nH 1 3ds dr gy
> IS 1 liday jailiy g n o Jg Yl .\:J\usau.u\ oy .2
3l G0 ) ey e i) agdedl e
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Siay Ll aally Jo¥ usdl § b J g gall WY Ty 3
ol S S e e WU sgasdl e u> S ]
e
Sy (@ +B) jlaial) 8y Saadl pdod] O3 ks lansy
W 8 gl I Y1 olaen 5 il o) JSCal

woir o[

r=()

15 S G, ) (63 & Nelaay m R

(HJ_ n!
r _r!(n—r)!

ol > &1 ELREY (n 3 s \J.o) O n duddd) slas N
ol &l n >3 1 oy bl e oo

=1 201=1.2=2 31=1.23=6 4!=1.2.3.4=24
01=10f )W\OAQEJME‘)}@J.H&AJ
(a+0)'" A Sin b sl odl sl 110,10 JCho

Example 10.10: Find the fifth term in the expansion of (a + b)'S,

ol 039 =4 055 ot ag jH1=5 9 n=16 OF dos Laa
5yl b o gllaall

ny ... (16 16!
. a" J'bj - a16-4b4 e 12b4 = 1820 12b4
(1] (4) H(16-4)" ‘
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(A)
Absolute value dallaad) daidl|
Algebra of functions ~ Jlsl| ,
Algebraic functions and their graphs
g lioming ol U1l
Analytic geometry 4>l iyl
L1y
oylid] b glas
Axioms for the real number system
etz dall ol Sl
(B)
Binomial theorem ol i3 4 ki
(C)
Cartesian coordinate system
& 50,1 el rUas
b~ ol 5 50
Common ratio dolu) 4l
Completing the square o)1 JWS|
Complex numbers 45 oJ| slus Yl
dby peall g oladll

pledl Cger

Angles
Asymptotes

Circle unit

Conic sections
Cosines
(D)
Direct variation
(E)
Elimination method of solving
gl el 3 o
Labll| C,LJ\

oilwl)

Ellipses

Equations <Yl
Exponential functions iw.Y! JlsJ!
Exponents o JI
(F)
Factoring Julonsd |
FOIL method Jogb Gy b
Formulas foe
cofunction 4 gluatl 41} foe
double-angle
oIl Cind ko
half-angle & ol Canas o
sum and difference
Gl ¢ gazell
Functions JIs |
(G)
Graphical method of solving
J Ll )

Graphs of trigonometric functions
Lalzad) Jla ) lisee

(H)
Hyperbolas 5811 ¢ ghadl]
(D)

Identities Ol Uzl
negatives I gud | O Uaie
Pythagorean & 46lid ol Uasa
quotient  dewuddl -5 liplaze
reciprocal o gliad| ol
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series
& Nduial) 2 nd izl
trigonometric  Laliadl Ui Uazel|

Imaginary numbers  {L.lsed! 3l Yl

[nequalities Ol Ll

Inverse trigonometric functions

LSl Lalzad) Js )

Inverse variation =SAl )

J)
Joint variation 4 piadl el
(L)

Laws ool sl
associative G, sl b
commutative bl il g
cosine pladdl G il 8
distributive & 531 il g8
negatives I gud! oyl g8
quotients daendd il g
sine | il g
zero factor (g auall Jalall il g8

Like terms iplazad| 53usd]

Linear equations {3l o¥sladll

Linear functions idased | Jlg Wl

Linear systems Ll ‘.ia.-.H

Loci L digd | J sl

Logarithmic functions

duazy )& ll1 Jlp )
(N)

Nonlinear systems of equations
idsdl e O¥sladl rl:.;

Numbers slas Y

integers ieymend)| 3lae Yl
irrational  duwd| i 3lae Yl
natural Landdll alas Y
rational (i uSJ) Ll 2lae Y
real iz | 5las Y
sets of slas Y s gazes
Number systems slas Yl f‘l"

(0)

Order of operations

Ollaal o i

(P)
Parabolas i\Sa) ¢ ghadll

Parametric equations
WP W REY PN
Partial fraction decomposition
i) 5 guSdl el
Point-slope form ~ |.eJlg dhidl i
Polar coordinates

Lbdl ol
Polynomial functions
s9dodl ol 28 Jlgs
Polynomials d9dod| Ol 8
Q)

Quadratic equations
L) &y 01 S¥slas

Quadratic functions
) &, 01 Jlgs

(R)
Radical equations 4 ,Jd>d! <¥oleall

Radical expressions
¢ lanal | O ad
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Rational expressions
Rational functions

O] NPT
(S)

Secant and cosecant
pladd abliy abldl
Sequences and series
O Ndaciadly Olalizal |
O adiaczall
Sets of numbers  314s Y1 &ils gares

g

Series

Sines
Slope-intercept form
gshiedl ¢ 2y Jeall dhno
Square root property
s el Lols
dealodl) Dl
Substitution method of solving

Sl gl G

Systems of equations and partial

Standard form

fractions
i) )5Sy WYl r.l.':.:
(T)

Tangent and cotangent

sladl Jb Yl

Theorems b
binomial ol by & ks
corollary Ao

Descartes's rule of signs
ohlaW o)l s
intermediate value
Ao gia | ol
JTREH) oo ol ki
Transformations and graphs
Ol ly &M gl
O lidzal|

ZEeros

Triangles
Trigonometric equations
PRICNI G PN
Trigonometric functions
idzad) Jlg )
Trigonometric identities and

inverses
‘_,uji.-.d PRRACANIRGATATEN

(U)

Unit circle bl ol 5 30

iUzl é 39l

(V)
A Ms-| oy

Unlike terms

Variation
Vertical line test

el J) ygmeall s
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Study Guides/Precalculus

When you don’t have the time ...
but you still need the grade!

If your life is too busy to spend hours ploughing through weighty textbooks, and
you need every study minute to count, Schaum’s Easy Outline is perfect for you!
This super-condensed, high-torque study guide gives you what you need to know
in a fraction of the time.

SUPER-IMPACT

Built for quick, effective study, this Easy Outline packs exciting new learning tools
that make mastering precalculus fast, fun—and almost automatic.

SPEEDY

Quick-study experts slashed the time you need to spend with your books by
reducing precalculus to the essentials the professor expects you to know.
This Easy Outline is perfect for test preparation, pre-exam review, and
handling those last-minute cram situations.

HI-QUALITY

Easy Outlines give you 100% of the authority of Schaum’s full-sized guides, known
around the world for the highest academic standards.

BACKPACK-ABLE STUDY POWER
Compact and portable, this Easy Outline lets you study precalculus anywhere.
SCHAUM'’S GETS THE GRADE!

Let’s talk bottom line. Schaum’s Easy Outlines give you what you want—better
grades, with less work, and more free time!

Get the essence of precalculus the easy way. Schaum’s Easy Outline of Precalculus
helps you master precalculus with plenty of illustrations, memory joggers, and the
newest, rapid-absorption teaching techniques. Backed by Schaum’s reputation for
academic authority, this is the study guide students turn to and trust. Students know
that Schaum'’s is going to be there for them when they need it!

* Quick study tips * Student-friendly style
* At-a-glance tables ¢ Perfect for test prep

e MceGraw-Hill companios

Visit us at: www.books. megraw-hill.com - lS B N 9771282‘ | 55 '9

Arabic version by:
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